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' Important Instructions :
1.

The Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out
the Answer Sheet and fill in the particulars on
side-1 and side-2 carefully with blue/black ball point
penonly.

. 'The test is of 3 hours duration and Test Booklet

contains 180 questions. Each question carries 4
marks. For each correct response, the candidate will
get 4 marks. For each incorrect response, one mark
will be deducted from the total scores. The maximum
marks are 720.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses.

Rough work is to be done on the space provided for
this purpose in the Test Booklet only.

. On completion of the test, the candidate must

hand over the Answer Sheet to the invigilator
before leaving the Room/Hall. The candidates
are allowed to take away this Test Booklet with
them. -

The CODE for this Booklet is 6. Make sure that
the CODE printed on Side-2 of the Answer Sheet is
the same as that on this Test Booklet. In case of
discrepancy, the candidate should immediately report

the matter to the Invigilator for replacement of both -

the Test Bocklet and the Answer Sheet.
The candidates should ensure that the Answer Sheet
is not folded. De not make any stray marks on the

. Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Test Booklet/
Answer Sheet. '

Use of white fluid for correction is NOT permissible
on the Answer Sheet, '
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Select the incorrect statement.
(1) Inbféeéijig incre ases homozygosity.

(2) Inbreeding is essential to evolve purelines
in any anj;n'gl., :

(3) Inbreeding selects harmful recessive genes
that reduce fertility and pruductnrlty

@ Inbf'éé&jhghelps in accuinulaﬁah of superior
genes and elimination of undésirable genes.

-”.".L:

Which of the statemeﬂt_:’s:givén helow is not true
about formation of Annual Rings in trees ?.

()  Annual ring is a combination of spring wood
and autumn wood produoed in a year.

(2)  Differential activity of cambium causes light
and dark bands of tissue - early and late
wood respectively.

(8) Activity of cambium depends upon variation
in climate. '

(4  Annualrings are not pr-::-mment in trees of
temperate fegion.

Under which of the following conditions will there
be no change in the readmg frame of following
mRNA?. :

5" AACAGCGGUGCUAUU 3
(1)  Insertion of G at 5% position
@  Deletion of G from 5% position

(3 Insertionof A and Gat 4% and 5% positions
respectively

(% Deletion of GGU from 7th, 8th and gth
positions
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@ lseuy @mu@ug,&sagé\mm oH D
ehusPSHpwer GOPEGD S

weow S eloeralsehd @S

-_ﬁmgamsm CarBOsH&EWD

(4) iLEﬂJDL], Geomen éﬁiﬂﬁﬁﬁ)@ﬂ @eﬁry
St ey, Gemaupp garserer Basaid
i .

&;pa;m;éumeh wriseie e
sueneTmiseT GCgrenmse @@gg THS
SafHI) 2_CTTENLUINGIHEVE) ?

D) @ QueneTth eremUE) R amLSSe
AUEHSHEETR &L 60l OHMID @aﬂrra;&rra)
sianL_ufen CaréansWn@Lo.

@ Csblwsder wrmul L Gewdur’iqer
sryentons Qeuaflit wdmb oL Bpwrer
fHa Qasrguysdr srarLu@BD. Hg
wpanpGuw wér Garardlw lohmd Ger
Gorenflu  sleoLsarms  SHSU-
uhépg.

@) CsolwsdHenr Qeweour®, srubaiu
flaouler wrpurieL.  GureSs
SHEDLOWLD.

@ Hgdeasin LOGRTL QLI u@gluﬁlau GuUeIT(HLD
briseld  SLATEH  GUMETW EISET
Oseflairss sramiLBeusliama.

£1p Qer@ésiiu Garer mRNA -cflan arbs

Aeoomould arfssuudn siLsia abs

WTHOPD gHuULTg ?

5 AACAGCGGUGCUAUU 8’

@ 5y Grfla G papsseD

@  5-b QL sHEps G pésid

3 4-wpmb 5 - QLEHO wopew
A wppid G genpsse

@ 7,8 wHmbd 9 -id Grid GGU -allen
B&&D
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4. Thefrequency of recombination between gene pairs | 4. 261 GCrrGurtsnfie emwis e
on the same chromosome as a measure of the @mw&aﬂaﬁ o GFisma -‘[ﬂ&@@mjﬁfﬂ ApaoLD
distance between genes was explained by : R ; :

: e epsdenL_uf eorer gIrsams slerellL
(1)  T.H.Morgan Quaid erenueng eferdfluaur :
(2  Gregord. Mendel (D) g.eré. NS
2) diflsi Q. Quend
(3)  Alfred Sturtevant, @ &" % . mm.m_m . .
@  OUQrl evLfigGeuet
4)  Sutton Boveri @  sliem QurQeu |
5. War@ésuu Herer smssen. penpsafier ergy
5. Which of the following contraceptive methods do apmiGonen LkiEL e perL Auydp 5l 7
involve a role of hormone ? 2 L s : . .
@D urn’ Geusrd aHuBD rgedwsé-
(D Lactational amenorrhea, Pills, Emergency flenenln, IS & [ &6, S ETT
' contraceptives SHESDL. e '
(2)  Barrier method, Lactational amenorrhea, @ sELY peopser, urgrl { ey Srev
Pills FHLBL prseflasdamemio, brsdeyse
(3  CuT, Pills, Emergency contraceptives @) CuT, wrgflapser, ojeusy HHSHOLEET
| _ f @ wrsdersdr, sy smSSHmL ST,
@  Pills, Emergency contraceptives, Barrier e —"1
methods )
6.  GarpéEsuul_Herare Diled, sigmis sdeysener
| SispHeusHanen 185 Hphs wpem ergy ?

6. Which of these following methods is the most D siflojsamar sSarQeuaiiudic AL N BT
suitable for disposal of nuclear waste ? @ =& ST ) G&TL"&% .y
(1)  Shoot the waste into space 2 ODSEHEGEED LMmBEHH
(2)  Bury the waste under Antarctic ice-cover @ s die ;a_rah‘err HIreon & @néd el Gu

. siflajsamer Qe eeugsd
3 GD;;p the waste within rocks under deep @ L up Qe 8 o dren urenm
5@8G QoLCu gwrar §L 8o
(4)  Bury the waste within rocks deep below the s\l Eemar HSEHE
Earth’s surface | |
7. Qar@ésiud e GEnéGaen sLgdsaid
gl Gléansellen FTinbss ?

1. Which of the following glucose transporters is 1) GLUTI

insulin-deperident ? 2 GLUTH
@ GLUTII
(1) GLUTI @ QGLUTIV
2 GQLUTI 8  @ofleyp aulsSdwué Qsosda gsar-
@ GLUTIII saarGur, GerampsmarCur @ GG L
flavsmu Cprid psisadpg. wefl g aflev,
@ GLUTIV BiGsdasr  wsHwons Qi
: + _ | DienLohgleTeren

8. The Fihated epithehs_ll cells are xfequ_ired to move 1) |_q] 55 pretd wHmb psas S aner
particles or mucus in a specific direction. In SV
humans, these cells are mainly present in': ? ©P oo owm L

@ QuCBard @ wer GO KT H MWD
() Bile duct and Bronchioles SERERTIL BTETLD
(2)  Fallopian tubes and Pancreatic duct ® WG oflwe G wHMD 21D BT
3)  Eustachian tube and Salivary duct E"?Tm. . - i
@ epsssdever - meaTE W e o miLb
(49 Bronchioles and Fallopian tubes @ UCmin e G aer
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10.

1l.

12,

13.

Which one of the following statements regarding
post-fertilization developmentin flowering plants
is incorrect ?

()  Ovary develops into fruit

(2) Zygote develops into embryo

3) Central cell develops into endosperm

4 Ovules défeiop into embryo sac

Which of the following factors is responsible for
the formation of concentrated urine ?

(1)  Low levels of antidiuretic hormone.

(2) Maintaining hyperosmolarity towards inner
medullary interstitium in the kidneys.

(3) Secretion of erythropoietin by
Juxtaglomerular complex.

(4 Hydrostatic pressure during glomerular
- filtration.

It takes very long time for pineapple plants to
produce flowers. Which combination of hormones
can be applied to.artificially induce flowering in
pineapple plants throughout the year to increase
yleld i

(1) Auxm and Ethylene :

2y "Gibberé]]jr_i and Cytokinin

(3) Gibberellin and ﬁﬁécisic acid
(4  Cytokinin and Abscisic acid

Which of the following is a commercial blood

| cholesterol lnwermg agent ?

QD Cyclospc-rm A

(2) Statin
(3) Streptokinase
4)  Laipases "

Which of the following immune responses is
responsible for rejection of kidney graft ?

()  Auto-immune response
(2) Humoral immune response
(3 Inflammatory immune response

(4) Cell-mediated immune response

10.

11.

12.

18.
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14.

15.

16.

17.

13

19.

Extrusion of second polar body from egg nucleus .

occurs

(1) after entry of sperm but before fertilization
(2)  afterfertilization

(3  before entry of sperm into ovum

(4  simultaneously with first cleavage

Which of the following muscular disorders is
inherited ?

(1) : Tetany

2) - Muscular dystrophy
(3).  Myasthenia gravis
4)  Botulism

Xylem translocates :

() Wateronly

(2) Water and mineral salts only -
() Water, mineral salts and some organic
nitrogen only:

(4  Water, mineral salts, some organic nitrogen
and hcrm{}n_es

How does stermd hormone mﬂuence the oe]lular
activities ?

(1) Changmg the permeablht}r uf the cell
membrane. .

@ Binding to DNA and forming a
gene-hormone complex.

(3)  Activating cyclic AMP located on the cell
membranﬂ

4 Usmg aquaperm channels ag second
messenger.

In some plants, the female gamete develops into
embryo without fertilization. This phenomenon
is known as :

(1) Autogamy
(2  Parthenocarpy

(3  Syngamy

(49  Parthenogenesis

“ Which of the following ecolﬂglcal pyramlda 18

generally inverted ?

(1)  Pyramid of numbers in grassland
(2) Pyramid of energy

3) Pyramid of biomassin a forest -

(40  Pyramidof biomassinaséa

14.

i5.

16.

17.

18.

19.
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Q& -QFwuouriBaeer dvwegmii® anriGumer
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1) Qed uLwsder eaf@ebd SeTeRLMIL
rHOIEIDS.

20 DNA -eyLér Glovampg) sier-ammiGiomes
&l L@wellaar e haursGHng.
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Qeuid grarHHMS.
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QUTGIGUTE FaaSLNs EMHEGD ?

D yeoGeaeaiuier sramanflEans Gorybd
@  Hod Gamyib
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21.

22,

23.

24.

Drug called ‘Heroin’ is synthesized by :
(1) methylation of morphine

2) acetylation of morphine

(3) glycosylation of morphine

4) nitration of morphine

Which of the fﬁﬂnmﬁng pair of organelles does not
contain DNA?

(1); Mtﬂchundna and Lysosomes

(2)  Chloroplast and Vacuoles

)  Lysosomesand Vacuoles

(4)  Nuclear envelope and Mitochondria

Consider .foﬂ'ow:ing features :

(@)  Organ system level of organisation

(b) - Bilateral symmetry
(©  True coelomates with segmentation of body

Select the correct option of animal groups which
possess all the above characteristics.

(1)  Annelida, Arthropoda and Chordata
(2)  Annelida, Arthropoda and Mollusca
(3)  Arthropoda, Moliusca and Chordata
(4)  Annelida, Mollusca and Chordata

Select the correetly written scientific name of
Mango which was first described by
Carolus Linnaeus :

(1)  Mangiferaindica Car. Linn.
@  Mangiferaindiea Linn.,

3 Mmgifera indica

(0 MangiferaIndica

What is the fate of the male gametes discharged
in the synergid ? '

(1)  Onefuseswiththe egg, other(s) degenerate(g)
in the synergid. -
(2) All fuse with the egg.

(3)  Onefuses with the egg, other(s) fuse(g) with
gynergid nucleus,

(4)  One fuses with the egg and other fuses with
central cell nuclei.

20,

21.

22,

23.

24.
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Qar@Rssiulferer Feaw e gly Searsald
ardé DNA Beéveneo ?

1y el GLrsmang flum bHpid

@CarGambaeT

@  @CearrGyrlemmavl WHmId Gl

3 . waGsrGembsear HmID GlLpseT

4 2lsm G ULb wogw @w’ GLr-
Srerig wm |

Shaugpld LML G SHEH® Darars.

@ emiy waTLe arefleorar S el

b  Qmuss swséi

© ocameowvwurar 2L HEGELLET FuigW

B '.:Esaﬁmuﬁl_&s@mr_m 2.L6 |
CwBe Qsr@&suul(erar L L &amerL

QuplméEnd domgs amiLbigald sflurer

Qsfleneus CombEsH&sad

1) euemargemsuL & &a,
OHMID (LPGI(GHT G 6hL\LIenE6.

@ fausm@rrgmafu Ll ser, Sams erel ser
whmo GodgL e

S & HT60l T

B senssrdsdT, Qg o Her mﬁ;gjrj::

(DS G BTEnien_Wenal

@ amasmsuyLddsdr, &wd e s
LOHMID WPSIEG BT enL LN

sGrreen IGaTwieny aufsaTme) IpHe

wadd Meufasiul () sRwrs erapsiulL

wrorsHer sidleilup Quuenys CabOSEH.

(1) Mangiferaindica Car. Linn.

2) Mangiferaindica Linn.

(3) Mangiferaindica

4  Mangifera Indica

Aenirefiggdr  cups@LLb 2@TCHS G-

seflen Fleney eremen ?

1) @an ST sgLa Qoardps wHD
@irawhin Aamgdlipaidar feaseuendpg

@) DEBSID ARSI Genantilb

B) QY SIETL_SSIL-GIb bpmeney Semiedil
Hlugsdlefluen o Lgyd ElenarTu|ib

@) oD SETLFISIL@ID HDMe MW
Qe Bysdlafien o Lgnbd G enanmibd
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25.  Select the correct sequence of organs in the | 25, spiiuren Lp& & udl 6 g@m@$@@_ﬁﬂﬁh
alimentary canal of cockroach starting from 2 Mtiysea umi apse QFTL ki@ Fhwmes
oI aiflemsemg CaiplsBéseyL.
(1) 'Pharynx — Oesophagus — Crop — @O Ggrarer — 2G0T QY (PeGLod  —
Gizzard — Ileum — Colon — Rectum Sailiiwu — simrealou — G
. NGO - GQUBHGLD — wadEL o
2)  Pharynx — Oesophagus — Gizzard — @ Qgrare, — 2 AT G P GLOD —
Crop — Ileum —> Colon — Rectum . S@Foabou — Safllou — Ger
P AyiGl_ed — @u@n:-..l@r_m — LRSGL
3) Pharynx — Oesophagt_ls — Gizzard — @ QGsramer — &mw@ﬁﬁr@gpfsﬂ 5
Ileum — Crop — Colon — Rectum
| S@rmaimu — G Apgrd —
(40 Pharynx — Oesophagus — Ileum — Safllienn — ALEBEEGLD — wosELD
Crop — Gizzard — Colon — Rectum @ dgraweL — 2T QNG G —> 1Gi6h
AnGLe — Salllieu — S@paanieL
— GUBRIEGLD ~ wedELeo
26.  Which of the following is true for Golden rice ? 26. e eu (e @TGUH)QJW org Gumanafp ifl4
GHiss Filwimers ?
(D) gsa Eﬂgammﬁemmhed with a gene from D G srairs S mpa AupiLCL
@@ Len o s el Liar o
(2 It is pest resistant, with a gene from Glamapl Ll Lg).
Bactllus thuringiensis. 2 Lrddewan gﬁ@rﬁg&rﬁmﬁaﬂ@m@ Cumy
L T PP udls
(3) It is drought tolerant, developed using HE : @(‘[ﬁé @_ _LD gl TGS
. T&HLOMS 2 GTemgy).
Agrobacterium vector. . ; : : i g
B D8 ECTmTsefin S _SHaul L
(9 It has yellow grains, because of a gene LRgE a@mrraﬁuuu_ QU T I1 AT T
introduced from a primitive variety of rice. i;ra;ua D (GLD.
@  wosre 08 resHdmbe Qupriu L
. . g e GG Bor CefdsliLlLger wab Gsedr
29. Resplraj;ory Quotient (RQ) value of tripalmitin is : srafLIkseT WEssar BpLons o rerar.
1) 09 27, Lq,@ﬂlj’i.fi‘l‘ﬁ!}LﬂLqﬁﬁﬁEﬁT FQUTE FFal Bg) :
I 09
@ 07 2 0.7
@  0.07
@ 007 @ 009
4 0.09 28. Q&rr@lé;aauuf_@shm@ﬁ);ﬂ@ ThHE &by
gflwinesg) ?
) sarGarergdan daeliuypsdosimwis,
28.  Which of the following statements is correct ? gpafl 2er(h (HeUE S g, urgiarulhsrer,
_ Lrs 2-ep sriefluremsib.
(1) Cornea_ is an exj:ern:sxl, transpgreuj; and @  srieflur SILTps Geverriiy s euran
protective proteinacious covering of the _ Q
" Qaravigmer Qarew Hoters wHmib
sramsGeol #fl Geliuyib Aper Qsram_g.
2) Cornea consists of dense connective tissue @  erralur gelloursayb, el e mayb
| of elastin and can repair itself. gareCWrHb, @rss Hramsdr <ifs
{3)  Corneaisconverx, transparent layer which 4 2l %WW@EW?T UL@.LE.’ S
is highly vascularised., @ sroge : H@Iu.] =nalhp @ml._ ; -G
Qur@eer srireflwr GQsrer @ erars
4y Cornea consists of dense matrix of collagen LOND g saramiiean wsdu o et
and is the most sensitive portion of the eye. LGS ILTE b,
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30.

31.

32,

Which of the following statements is not correct ?

(2} -

2

(3)
ey

Lysosomes have numerous hydrolytic
enzymes.

The hydrolytic enzymes of lysosomes are
active under acidic pH.

Lysosomes are membrane bound structures.

Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

Match the following genes of the Lac operon with

their respective products :

(@) 1gene @ B-galactosidase
k) zgene @ Permease

{&). agene (i) Repressor

(d ygene (iv) Transacetylase

- "Select the eorrect option.

@ ® ©

G @ @ @ @)

@ @ O @ @

@ @ O @

@ @ @ 0 @

Select the correct option.

(1) 8 9th and 10t pairs of ¥ibs articulate
‘directly with the sternum. -~

@ 11tk and 12t pairs of ribs are connected to
‘the sternum with the help of hyaline
_-_cartilage, s

(3 Eachribis a flat thin bone and all the ribs
are connected dorsally to the thoracic
vertebrae and ventrally to the sternum.

{4  There are seven pairs of vertebrosternal,

three pairs of vertebrochondral and two pairs

“of vertebral ribs.

Which one of the following is not a method of
in situ conservation of biodiversity 2

®
2
@
@

Biosphere Reserve
Wildlife Sanctuary
Botanical Garden

Sacred Grove

8

29,

.30.

31.

32.

eeu(Bid sadmIEeflds 6TE) SeUDTEvIg ? |

1D oolsr@srbsalld man_Crreneg s
Qprélser . ofs  aaneflsmasudd
srewiLHS dpar.

@ oaCsrGerbsailen aap _Grrepeig s
Aprdsar <ol pH -& pang
Qewerhmitd:

@ woCesrGembsen UL QLD &L
 SI@LOLILISETT(ELD. |

@  ooGsrGsmbsdr aarGLr GerrevHs
AriysEosdd Qurdssdar Curg
o (HeUTGSLILIHS D!

ors guuyraidar Panaamer sigen ellaner
QurpGarr(® QUTRSSS. o
@ isSan 6  B-srasCLreiGLd
®  z S @  uindGue
© aden () H&H
@ ygen @) yrenav
. ~oflenL_Geoen

giluren cfient_oow CsiBOSHES6LD.

@ b ©
O: @ o @ )

@ @ @ @ @)

@ @ O a O
@ @ G O @

gilwner sapan CaTHESHEELW.

@ 8, 9 wppw 10-aug Gaew ol

cr@bLy&er LrTEQUQNbLL 6 CHIlGWrs
@ el gl ererg).

@ 11-eug) whHgID 12 -aug) Qenenr alleor raid

L& maniireler GmsbsaIbL] epatd
wriGQueibLjL e GlememésuliL HaTarg!.

@ Quédlu sleLwre gadearm oileom
FIbLD WHEIUDSHL (pasbyS
AerL@Leud  alddguypsse
ITEUQIDLL D GlanemibEeTarg).

@ g Qe 2@renn ellor TEIDL ST,
apaim Benenr Cumrell allemr eTedLHET
wHmbd @ran® Geavan Blgsan elem
CTQUDL|&ET 2 GTemaDT.

19 6o 611 (I @ &7 G ) 1) 6T oTg) o udl fl et

uemowslen 2 el 2 6T euemhigmiL (in situ)

(LPEDMHWIEED 7 |

(1) 2u9i&CasreT LITGSTLIL]

2 cuarefleni@g Framrewid

@) sreureflue YRS

@ yeafigeGeramer
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9 P6

33. Selec_i_: the ipcorrect statement. 83. geumnew sap) e Gg,#‘rj;@g,@&a;m h
(1)  Male fruit fly is heterogametic. @ parr Lpliyésl - Ganl g Grr
- {2) Inmale grasshoppers, 50% of sperms have BTG ESTELD.
no sex-chromosome. @ g e Gdeflaaiier; 50% afpgsaian
(3 In domesticated fowls, sex of progeny ure GGrrGrGenb @lmesng).
depends on the type of sperm rather than @  eilgd cuaridasliu@b. LUpee safld
e8e- Lurd Blifemwb siser i seos ol
4 Human males have one of their pg - . Qsvelen . auemsemw
sex-chromosome much shorter than the gum@%@m@,
other. ' '

@ wels geansaiv. uréd @SrrGur-
Gersafld gy wpApreenn oL
34.  Which of the following features of genetic code does SAdlusngio.

allow bacteria to produce: human insulin by

recombinant DNA technology ? 34. wmGsisms DNA Qamflemi’ Lub eurlears,

(I) Genetic cc-de 1s not ambiguous : eifls @g&rmaﬂa}ﬁm umrSlefwr g_;fjugg] Qe
@  Geneticcodeisredundant BB 10 GHILE Lamy oigyioflélas 2
8)  Genetic code is nearly universal L wrys PG Dgafleup PSS Gdene

4  Geneticcode is specific @ wrys GHINE BlesliLgwrs o darg

@) s GHluie Auapburab Auigerargs;
| @  wrys GHSH GHouTas

85.  What would be the heart rate of a person if the

cardiac output is 5 L, blood volume in the ventricles | 35. g pufler @swsHadlGhs Aeuedisu @b

at the end of diastole is 100 mL and at the end of Qrassden oetey 5 L, eoLwimen CL i edlar
ventricular systole is 50 m1I, ? Wig.afled Geuem” Mé@aden 8158 <ierey 100 mL
()  50beats per minute . wpmb Geien fAs@eort HAavCL_rean (pig.68led

Bdssslan siemey 50 mL <,&ud (5 5E5m6) ieuflar
- - Bow g9 iz aananars @@ ?

% dSeateperminnte W oG AIEHHEG 50 @swssig s

(40 125 beats per minute @ B Bl gdme 75 Bawusgie s

@ 96 HO5IpE 100 @sussInLyseT

(2) 75 beats per minute

0 Mach the ollowing ogusims wih hec | (g 00 Glabgs® U ASAB e
@ S W Elamgecls 36.  Qsr@ésiiui (arer e dRsmeruyip siapfen
®)  Bombyx (i) -Combplates LT @emamuyid QU msés)s. |
©) Plewrobrachic (i) Radula - @ i © i Gadasr
@ Thaenia - (v) Malpighian | ® uns9sen @ &S U Haer

: tubules (©) Q@;@Jﬁ"ﬁﬁ'@é}aﬂ (iii) Frier (1) Brésrin
Select the correct option from the following : ) weaflumr (iv) Loraied WLIGHT GBLOG&ET.
@ O @© @ sfluner elen_ow Coip0s@.

O @ @ O | @ ® © @

o . : L @ @ @
@ B 5@ e ® @ & @ o
@ @ Gv @ o @ G) v @) @

@ @) G & O @ @ @ @

T
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37.

38.

39,

41.

English+Tamil
Variations caused by mutation, as proposed by | 87. aflyGaer-ig-efiflev-ei smpmiiug, @S
Hugo de Vries, are: OTHDSHTTED 2 HEUrEGLD LrMUTHSET :
(1)  random and directional (1) uyauerarena wpmidb  SevFser
(2) random and directioniess e e 1 AL o . ]

o () ureueraEna WLHOILD HasseT NP
(3  small and directional @ A whpib Hevasdt QHTaTHEGELD
(4)  small and directionless @  Adlw womd Slevssdt SPOS
38. @up ST Girflen epFFEHETHE SleTa LHYID

Tidal Volunie and Expiratory Reserve Volume of
an athlete is 500 mL and 1000 mL respectively.
What will be his Expiratory Capacity if the

(1) Body temperature

(2) Moist surface of midgut
(8)  Alkaline pH of gut

(4  AcidicpH of stomach

Identify the cells whose secretion protects the lining
of gastro- 111test1na1 tract from various enzymes.

(1) Chief Ce]ls

@  Goblet Cells

(3 Oxyntic Cells
(@)  Duodenal Cells

41..

Qeueflacurs Cafllilg Qerdratara] wenpGu
500 8.e8. wpomid 1000 W.ell. 86 o.6TeaTy).
seuflen ergpflu Gameremerey 1200 18.60. 8

Residual Volume is 1200 mL.? S ; . : :
Aol e, Qeaefiéseurssfpdn eremeneuns
1) 1500 mL my
GmEGW
2 1700mL (1) 1500 .85
8 2200wl 2 1700 15.6).
: (3 2200 Sl.aM.
@  2700mL @ 2700 .65,
s tatements describe the characteristi 39,  Yléeu (% e G 6u ) M 6T 6T & QUIEHIT W 6D
ollowing statements describe the characteristics : ; . .
of the enzyme Restriction Endonuc]ease Tdentify eremrGLIR _Q’Eaﬂ Gued Gprfdmen upHlu
the incorrect statement. : _Q“".D“;“ 5’3@1 ?
(L BrouIrang g .eTer. . (POSEmMmD
(1)  The enzyme cuts DNA molecule at identified - - . ; s
position within the DNA. GOLEICL Hawuld i.orar.e. g
Eaul_(pib.
(2)  The enzyme binds DNA at specific sites and @ Qpr ﬁ W g 4..6rén.q - o8 Ganrr ()
cuts only one of the two strands. EHAC L LESseid G @i oL
(3) The enzyme cuts the sugar-phosphate Qenpsafler geraon WG GG
backbone at specific sites on each strand. ® Gprdurag gatarm @owulgd
(4 The enzyme recognizes a specific 2 dier EFsEey-uTRCUL FLL S0E
palindromic nucleotide sequence in the DNA. GOIUEC L @ rusafier Gleul (Hitb.
@ Qprédurag GHOUGL uredery -
Wh ; # Grrdls HluysHCurac® Qgriisemaer
at triggers activation of protoxin fo active Bt . P ;
toxin of Bacillus thuringiensis in boll worm ? i-6rei.o7. oflch e Hluo.
40. s sryed Curd yupeilgueter Lirdla et

grhlerGlgenflaslsr e Bés Gurmenar Bt péaL
Qurmerméd dewd grarBHsing ?

(1) 2L Geuiubleneo

2 BO camreys@pedler N6 LFLL]

B e ameysEpedar strssearew pH

@  anSpdler sblewsgerentn pH

erauaiemns Qsaseflan aruuser @eprUent-

GLouremgilar o1 L offmar LG
Qprdsafladipbg LUTSSTEGLO ?

1)  pseren Qsdser

@) Garleu augeuF bedsdr

B ysedlangs Qeamser

@ 1gCumganed CFser
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English+ Tamil

42.

43,

44,

Pinus seed cannot germinate and establish

without fungal association. This is because -

(D  itsembryo is immature.
(2)  ithas obligate association with mycorrhizae.
3 it has very hard seed coat.

(4)  its seeds contain inhibitors that prevent
germination,

Which part of the brain is responsible for
thermoregulation ?

() Cerebrum
(@) Hypothalamus
(3)  Corpus callosum

(4  Medulla cblongata

In a species, the weight of newborn ranges from
2 to 5 kg. 97% of the newborn with an average
weight between 3 to 3.8 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg
or 4.5 to b kg die. Which type of selection process
18 taking place ?

(1)  Directional Selection
(2)  Stabilizing Selection
(3)  Digruptive Selection
(4)  Cyeclical Selection

Use of an artificial kidney during hemodialysis
may result in :

(@  Nitrogenous waste build-up in the body
(b)  Non-elimination of excess potassium ions

©  Reduced absorption of calcium ions from
gastro-intestinal tract

(d  Reduced RBC production

Which .of the following ‘options is the most
appropriate ?

() (a)and (b) are correct
@)  (b)and (¢) are correct
@  {¢) and (d) are correct

4) () and (d) are correct

11

42,

@ @s

43,

44.

45,

Pés
Ui eflangsearred Lehassalldan 2 majapanp
Bedeoned waneardsan, BlenawdHLayb
Quiergy, hlearempme ; |
D Qs smairangy wHTEH LS WD
Q@sed
erems GauflyLer slLmw
2 DeIpaD Clsiretriq (Fé @b
@) Qger Mg 2 ey WBss siqaroTAHTELD
@ Qoo dlewgsefilé massmn sHEEW
SHOUTESET Sramrliufib

Qeniis iiGUTLighE apeerulien TS LGS
STTERTLONS 2 GTemgy ?

D Cumapenar

@  eapiCurséoroe

@)  smrlue SGran

@ poebd

@0 Ahdlasde udsrs dpss usderd
2 uifluflen erenL. ofdar 2 - 5 kg @b, sy
eTeni 3 - 3.3 kg 2 arer uFflomb o wifseNd 97%
L (o grew 2 ulli curpdlmg. 2- 2.5 kg DD

4.5 -5 kg erenLwyeimer uFdlerid 2 1fsafleh 99%

Brbg A08pz. @S adiaes Gsite) (pap

B CQun$lmg ?

D) Hevs Cairey

@ feeuu@ssib Csiey

®  Seorgaigid Csiey

@  sphfl Gaiey

abCoroLurdfalar Curgy Qsupes

AmBrases o LGUIATLETD FHUBL Benear

Q&ET

@ eLdld eapl Crrgane Bt a| Quimmer
Geirgen.

B  ereinE sidsors o arer QUL rw
Siweflser Baain(Heudldane.

(©) asﬁmmuwmguﬁieﬁ sraflub  wef
saflen o Arflsse Gopdps).

@) RBCepusd Geopdns.

b Qer@ésiiulLemaded Qurmssons

ellen_eni CarbosH.

@®  (a) wHgid (B) &l

@) (b) widmbd () &

@) (o) wimih (d) &

@ (2) opgid (@) &

T
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Pé6
46. Placentation, in which ovules develop on the inner
wall of the ovary orin peripheral part, is

1).. - Basel...
3) Parietal.

{4)  Freecentral

47. Considerthe following statements.:

(A) Coenzyme or metal ion that is tightly bound
to enzyme protein is called prosthetic group.

B A complete catalytic active enzyme withits
bound prosthemc group iscalled apoenzyme.

Select the correct option.

(1) . ‘Both (A) and (B) are true. -
(2)"  (A)is true but (B) is false.
(3) Both (A) and (B) are false..
@  (A)is false but (B) is true.

48. Match the Column -1 with Column - 11 :

Column -1 Column -1II
(a) P-wave @ Depolarisation of
ventricles
() QRScomplex (i} Repolarisationof
' ventricles
¢ T-wave (1) Coronary
ischemia .
(d Reductioninthe Gv) Depolarisationof
- gize of T - wave atria

(v) Réplﬂlarisatimn of
atria

Select the correct option.

@ ® © @
O @ O @ G
@ W 6 @ ©
® @ O &
@ @ @ ® @

47,

48.

English+Tamil

ahs GO @l poplld, G GRS
Sienyullen

o L sauflar BCgT D0y
Um erdveneliLi@Subler L igGur sremriLHiD :
1) oIgFEH LD

@) IHFEGD FLHpePD

3y seur@Eo L Hpem

@ polss @wLUGD LGP

Qmw@&aﬁuﬁu@érrm FDOIFHETE Uig 5.

A)  Gpriua L;Ug,gg;i:_ah BmEsiors
Gevardsiul Herer gomeaw BT
sjaeg 2 Gars Siwall yrreangllad
Q@TGHFET 6Te SHEDPSEILI(HID.

®) yCrrevgins AsTEGSuyLea Qamarbg)
em wowwre Qsudbig Sfwr
sars fgpeneny  Qarer. Wprd
.g{@urr@pr@ AT SiePESLLEWD.

sRwner claLamus CarpAsOEsMLD.

@O (A wpmd B) GuerrGid sflwreramal.

@ (A sf yeame (B) saum.

@ (A wpyn B) Gram(id FeupTEIEma.

@ (A seum yamred (B) &,

usd -1 Hnb LSS - I -ew Qurmsss.

uggdl - I ugdl - II
(@ P-eoe G  Geusmg s
Slefleom 106
weraIbwss
B&&1D
b QRS & Lena (i) Geuengffls
Haflar Wen
apenerIuss
S
@ T-siew i) &Cgmen
Elerduwir
() T - e (v) gligflumeler
S|ermedled Wer  (peparl
G®DSD Gwss Baso

v) gligflumelles
Welt  @panery
Qwss B4
gfwren alenLemu Caib@sHsaEayLD.
(@ G ©
o v @O @ @
@ G & @ W
® @ ¢ @
@ G) @ &

T
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49,

50.

51.

52.

53.

54

Which of the following protocols did aim for
reducing emigsion of chlﬂraﬂuomﬂarbsna into the
atmosphere ? '

(D Montreal Protocol

(2  Kyoto Protocol

(3  Gothenburg Protocol
(4)  Geneva Protocol

Polyblend, a fine powder of recycled modified
plastic, has proved to be a good material for :

() making plastic sacks
(2). use asafertilizer

{(3)  constructionofroads .
(4 making tubes and pipes

Which of the following can be used as a biocontrol
agent in the treatment of plant disease.?

(1)  Trichoderma
(2) Chiorelia
(3)  Anabaena
4  Lactobacillus

Which of the following sexually transmitted
diseases is not completely curable ?

(1)  Gonorrhoea

@  Genital warts
(3)  Genital herpes
4. Chlamydiasis

Thiobacillus is a group of bacteria helpful in
carrying out :

(1)  Nitrogen fixation

(2  Chemoautotrophic fixation
(3)  Nitrification

_(4) Denitrification

-Colostrum, the yellowish fluid, secreted by mother

during the initial days of lactation is very essential
to impart immunity to the newhorn infants becange
it containg :

(1)  Natural killer cells
@  Monocytes

(3}  Macrophages

4  Immunoglobulin A

13

49.

50.

51.

52.

53.

a4,

P6
CLLICEINNINOT. -y ¥ B apan,
aueflnam_wsHa @Gmn(}’];rrr”q @5 G
srruaflen o Slpee Geomss: penadng ?

1)  wranefwd Lo
@  sCwrCLr penLpery

3) '.sarrg,fsiﬂu_r'r@ [BERL_(LpenD-
@) GQmafleur BNL(PEDD

uredl dlemenl. eranLig wEISWHS Qe
wrpHluewssn’ L Gerrevgé G, @g)
Blemés UL Spis Qurmertes Lwen Heug) :

@) dlarrevig & sTES eoUHET 2 ([HOUNES LI et
uGdng |

2 o gwrs uumu@eﬂmg

3 EMENED DIeNLOESLI ummu@é]mg

4 @Gy oHnb Gprsd 2 (FaUrss

LU me)

Glenelhauaradmer srauy. Crmdisener
SLOUURSHD auﬁlwa.@uurn..@ &y ]

e ?

(D poorsCaertliwr
2  &ComGlraearr

®) el

@  wrsCor urfoewan

SpsramucupBle: aig Urdeiaan é(r_r)rrmm o
Dlgions @aiorss Suwieong ?

1) CerGemflwr

@  Yplypiy wmEser
3  dolymiy QamitiQen
@  Herrenwoiq wiredlev

msCuirurflioved weos urskfuiisd
Yuueriisear Cup@srdrer 2 g dlemen :

@) eoplige Hfoofnssn

@ EGor U G nrm9s Hleoflmissio
@  eplrnCapmbd

4) oplrga B&s0

R M6l FbLISTER LTI (b BT sale): gy
SULHLD Wgpsat Blp Hreud ‘Gemdl b, 9phs
usdlad  uiesse Cprd  ahiriyg
ganaweal Jsfliugne Weey 2FEuim-
audlions e ereng). erQemafles oifler sy 2 GiTeng) :

O Qupens Qarawdls Csasdr
@  GurCeamems Hse

3 CwsGrr.Cuhser

@ @Lh&},@ﬁﬁ@(?éﬂﬂqaﬂﬁ -A

T
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55.

56.

57.

58.

14 Erlahe T
The Earth Summit held in Rio de Janeiroin 1992 | 55. 1992 -& FGwmg QepaliCrrelldd pept_ G Lyefl
was called : Fir 2.48) MBI lg 6 SSI0LIT(meT :

() to reduce CO, emissions and global O €0, QaalCuppsepuybd, yel
warming. QeuliLiorgeeDd Gennés GeueT(hi
(2) for congervation of biodiversity and @ 2w ugﬂm“—'é’j‘“@ G”mfé‘&’@@{ c"*‘iﬁm
sustainable utilization of its benefits. ; Bepawiren Lwenseme Ly Goler (b
(3) toassess threat posed to native species by ©) GU'G.IS]‘B@? Qjm]ﬁ&.u'i i .53 rsnmig;grrﬁu r,rr_masisrrrr.a)
invasive weed species. 2 GTETL() TEHSEHSE LG Qapss-
; , " upeueng LA Gauai(Ho -
4) or immediate steps to discontinue use o @ @Gstér UL e o] o
: e . samg urdsgb CF
CF(s that were damaging the ozone layer. “seflen LwdTUTLaL ApssasHETe
o ey BLAgEMmesd Gupdardrer
Match Column - I with Column - 11. GaemipiLo
Column -1 . Column - 11 56. usd -1 usd-1leLen QU“®:§5§?’5-_
(a) Saprophyte (1)  Symbioticassociationof. ugél'-— 1 _ ‘ Lgdl - SH ‘ |
fungi with plant roots (2) sTgcRTenfl L) WEHrmESERHGL Sraly
g Goufrsiemsdl e Gwswiren
) Parasite i) Decomposition ofdead e i
organic materials SORGUIT @IMbsend
s g o P - SiGHLOUIL o
(¢) Lichens (311) (I;;‘;l::ji ;?Sllﬂng plants (b) @@ emen Gi) @pis st QUL sema
| 1oL &8 QFiiuib
(d Mycorrhiza (iv) Symbiotic association of (©) ev&Qsen &aT  (ifd) . STITHISET DD
algae and fungi : ;

Choose the correct answer from the options given
below

(d) L,erensGaul

eSlevmki@aHenaT S HE
aurqpt>
(v)urflsdr wHHD  LLEHeS-

@ (m @ « &@éaﬁml;@m_mrrm
O o @ @ . " %@Eguﬂg SiELLIL
i , _ agflwnes cleamu CsThOSHEH6ID.
@ @ @ @ ) @ ® © @
@ @ @ @) @) O O 9 G@ @@
. ) @ @G @ @ @
@ ® @ @ @ @ O @
@ G @) v (i)_

Purines found both in DNA and RNA are :

()  Adenine and thymine BT.  lg.oTEN.Gr. LOHIID BF.ererm. 6. gl Gyasriq @iLd
5 Aden; 4 ) srawruLBid W flensear ereneu ?
= RRREERLRE 1)  Sgevarest LHMID gwdlen
(8) Guanine and cytosine @  Sligeneen HHID Goureneue
(4 Cytosine and thymine B GeuremeTen whmd s CLTenser
@ s CLrensan LHHID @Swdien
What is the direction of movement of sugars in ‘ _ ; S
phloem ? 58. yCatmugdHe sisserseiien paiel ergdlanguie

Q@S ?

()  Non-multidirectional ;
—— D  SwssarDng
e Hewes @  Gud Cprad

3 Downward 3 S Cprss

(4)  Bi-directional @ B Hassatle
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[English+Tari] 15 Pé6
59. The correct sequence of pha i . " )
| q ofphasesof celleycleis: | 59  Qag s0Hé Hooselar sfwune Qsrii
H M->G -G —S8 auiflensg :
@ G —»G,—>S8S->M B M-G>5G,>8
@ 8-G,->G->M ?; G =G >8> M
3 S—=G, —-0G,->M
4 G;— ' < 2
4) 12526, ->M 4 G->85-5G,>M
60.  Select the hormone-releasing Intra-Uterine | 80 SGU®U@aidt Qur@sstiu@n apriGurer
Demges_ ETSGID FTHOESO6TS Carb@sBssad.
()  Vaults, LNG-20 @ eurédlei, LNG-20
(@)  Multiload 375, Progestasert @ ey G’ 375, CrTGgeivL Qi
3)  Progestasert, LNG-20 ©) HGW@%@LW@E&'.—- LNG-20
@  Lippes Loop, Multiload 575 4)  edliiue sueneTwID, ioebtg Geor 375
6l  @@® %‘W @@Uﬁl!—gﬁé Glrem® 0 eSe ser

61. Agenelocushastwoalleles A, a. Ifthe frequency A ‘a f"—,@”@”@f- (M @W&&LL@Q@ @il 6
of dominant allele A is 0.4, then what will be the S A’ -afleir i@ Qagn 0.4 %5 QGpsne,
frequency of homozygous dominant, heterozygous CanrGonrenssev @R sereno, Qanig Grras
Ezsmicéig?gous recessive individuals in the 5‘5‘:;] L{;‘ﬂ)%;lﬂ CanrGLomenessah ghrdugsaremw

. 2 lnsealar  omeCeudar  aeranairs
1) 0.36 (AA); 0.48 (Aa); 0.16 (aa) Bmégn ?
@  0.16(AA); 0.24 (Aa); 0.36 (an) (D 0.36 (AA); 0.48 (Aa); 0.16 (as)
@  0.16(AA); 0.48 (Aa); 0.36 (aa) .% 3' ig Eﬁ; E’ig Eia;; g'gg Eaai
: : 0. a); 0.36 (aa
@ 0.16(AA); 0.36 (Aa); 0.48 (aa) (4} 0.16 (AA); 0.36 (Aa); 0.48 (aa)

62. Comfersiﬂn of glucose to glucose-6-phosphate, the 0% mar:rasrrﬁma}#] adlem pged Warr efleamuin GG
ﬁrs‘t Irreversible reaction of glycolysis, is catalyzed @@5@5naﬁ]mﬁm GEEGaT6D -6- UM GLL LIS
by : LTODIETGD. @ser Hflwr easd orgy ?

()  Aldolasge 1D CLrCeev

(2)  Hexokinase @  QensGrransCaren

(3) Enolase {3) W@@TWG@J@U

@  Phosphofructokinase @  urehCGumArsCLr ensCamen

63.  The shorter and longer arms of a submetacentric Eu. ol B ”.Q HEMe Tﬁf*‘ &Cr W‘@ om Gamid & afl e
chromosome are referred to as : @L_Gm__ ,LD'[DQ" © Beim syisar, Qeiaurm
(1) s-arm and l-arm respectively SpssULGDY :. g g
(@)  p-arm and g-arm respectivel el PDGID L s
o P .ve S 2  Yonlu p-syd wHmIb q-s5bH

g-arm and p-arm respectively @  aperpGu q-SFLDd WHOID p-SFb
4  m-arm and n-arm respectively @ wpopCuw m-syb Lﬂﬂ'}gﬁﬂ) n-&fib

64.  Which of the following is the most important cause ok ﬂﬁh@@mﬁf‘@ﬁ}@@h - CTHl ST WHmbD
fnr_ an‘Lim als and plants being driven to Gﬁ]@m@‘ﬁﬂﬂm Be é{@*‘g’@é’ﬁ“m s péélw
extinction ? STJETD ?

(1) Habitatloss and fragmentation @ m”b@‘“ QY LHmID gag)y UBHSSLILIL 60
@)  Droughtand floods @ apls DOHD Cloveiramd
(3  Economicexploitation 22 err@ T 5?—WL@ '

_ o @  oemafln e sefen el s
(40 Alienspecies invasion Bavpa, S
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P6
65.

66.

67.

68.

DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with :

(1) TIsopropanol

@ . ._.Ghj_lled ethanol

(3 ‘Methanol at room temperature
) Chilled chloroform

In Antirrhinum (Snapdragon), a red flower was
crossed with a white flower and in I, generation,

pink flowers were obtained. When pink flowers
were selfed, the F generation showed white, red
and pink flowers. Cheeee the meerrect; statement
from the following :

(1)  Thisexperiment does not follow the Principle
of Dominance.
@  Pink colour in F, is due to incomplete
dominance.
. 1 i
(3) RatioofFyis 7 (Red): - (Pink) : 1 (White)
(4) Law of Segregation does not apply in this

experiment.

The concept of “Omnis cellula-e cellula”regarding
cell division was first propased by :

() Rudol Virchow
2) Theedere_Schwenn
(8) Schleiden

(4)  Aristotle

Expreeeed Sequence Tags (ESTs) refers to:

(1) Genee expreeeed as RNA
2) Pelypeptide expreeeien
() DNA polymorphism

(4)  Novel DNA sequences

16

65.

66.

67.

68.

®

English+Tamil
2 WG pPEO&ESaMiSET CEreaL. & HOEeGID;
o .erern.ar. eipLigeurgame Gsemars GeruLisen
apeotd QU APlg D :

@) - mGsryGyriuiemre

@ @aflepli Ll erggenmed

@) e QeuliLifleneoulley 2 e Quogganmed
@ @amem L L L @&GarrGyrumiD

2y 671g. v eTLd (GOBTLIGTTEHET) HTeJihiHetled,
ety werser, Qeudramer warsGarrH
sy Qelsred, Fy -& @eangdleaiy werser
@upla L e, @err@ﬁeuﬁu LDEITSENET HHSHEUIL]
Qsizmd, Fy -6 Qoucanar; Hautin] wpmid Semes
HautiLy weirser QupLiLLL e, S derTHéEsu-
Lt [DereTaubmied THS sadmi SHEUMestg ?

1) Qs Corsemen @G LT S5EUSHS
Qenmupmisugleranad

@ Fp-er Rergs Heauty Fpd gpepeno G
@rIGsTmL sTraors Caren Hluig)

' ~ 1

@ F, -éflen eflflgmemrw I(éleuliq) :
2 1
i (@emépfloutiny) : Z(@e.iehe)eﬂ

@ seasgidfssd N QFFCergmasE

QuUrEHSTH

“.:ggﬁd?@ﬁev Qecogyenr . Geaigyeanr’” ercmga Glaad
LY srirsg Camiumen. pFle gnPlwiauit
AT ?

O ural elitser
@ HOwr it eveuren
3 adledeim
@  sflebmged
eré&avfyavl. Fasmenav L& (ESTe) Blaemen
GHEAg :
B HET 2. GTHT.GT. -QUTS Qauelis-

WICE:=1)r5

@ uraltQuieL s QevefiilGEDg
(3)  Ig.eTem.Gr. L@ SEEOLD
@ ugewrer tg.erer.er. auflenssar
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69,

70.

71,

72,

Match the following hormones with the respective
disease :

(@  Insulin @ Addison’s disease
®  Thyroxin @' Diabetesinsipidus
(©  Corticoids (i) Acromegaly
@  Growth Hormone (v) Goitre
(v)  Diabetes mellitus

Select the correct option.

@ b ©
® © 0 @ @
@ @ @) @ @
@ ® & @ (iii)
@ @ @ O @@

Phloem in gymnosperms lacks -

(1) Albuminous cells and sieve cells

@  Sieve tubes only

3  Companion cells unljr

(4)  Bothsieve tubes and companion cells

From evolutionary point of view, retention of the
female gametophyte with developing young embryo
on the parent sporophyte for some time, ig first
observedin: - | '

(1} Liverworts

(2)  Mosses

(3) Pteﬂdophytes
@ G}?mnbsperms

Which one of the following equipments is
essentially required for growing microbes on a
large scale, for industrial production of enzymesg ?

(I) BODincubator
@ Sludge digester
(3  Industrial oven
4@  Bioreactor

17

69,

70,

71.

72,

Pé

Qﬁrr®$.&q.u|'_®si'rerr @wﬁ.@mw@-ﬁ@m <D 560
CEmL i jeni_ur Cpmy_er Qurmsgs. -

@ Qensalanr ). -<BAg.Fa Crpirity
) @}gu‘rréﬂﬂéﬁ {1y LALIML te 60
@m&][ﬂ]Lﬁm
@ srigssrd@sdr (). . oCmCosre
@  eueriras) ™)  smii
i CGLore o
V) _wmed
@maﬂ@.@f_n
sflurenemenn CorpOsGosam,
@ & © @
@®» @ @ @)
@ @& @ @ 6
® @ v @ (ﬁi)
@ @ @ 6 (),
@m(?smwsfpauﬁ'maaﬁaﬁ; YearmwusHer Geveu
srariiuhieudldenay -
(1) deuerriirs Qedszdr LHND Fdrevent.
GlEasdr
@  sdemL Gmisdr v G
B gieman Gleebaer 1ot Hib
4 sFowenL GRIUsET  wHmyb &l ev emer

Glev&er

Liflewrmio urrr'rrammtjﬂs&ruiq_,_ QUETHLD @erib
SGLaT Sl QU Cswl GLremut Gadr
Siig) srevid siu@un(ﬁ;rrrmufnqeirg)réjé] ARSpg.
P& i qpsac BIENILL L 5) ?

D) dlewrQeuriRaer (FFpe) SUGUIBISET)
@  wrovsdr

@ GQACrepLi_sgr

@  PoCamaiv@uirbasr

EGip G]ﬁrr.@é.ﬂgﬂu@@@hﬂr 2 risgemasaficr gy
biewgpriflsamaer Qe 8 o Sfaralleren
GBS 2 husSssrs, auariss LwenLBdme ?

L Y. @m_srig

@  sfasHn @ Glefiire
@  Asrfes Qaciussawe
4 .81 Gouflsaawar
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73.

74,

75,

76.

18

Grass leaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

(1) * Closure of stomata
(2) Flaccidity of bulliform cells
(3) Shrinkage of air spaces in spongy mesophyll

[CY) .Tj?l_n:?.ea in vessels

Which of the following statements is incorrect?
(1)  Viroids lack a protein coat.
(2)  Virusesare obligate parasites.

(3) Infectivémnstit.uﬁht invirusesis the protein
coat.

@)  Prionsconsistof abnorm ally folded proteins.

Which of the following statements is incorrect 7
(D Morels and truffles are edible delicacies.

@)  Claviceps s asource of many alkaloids and
18D,

(8) Conidia are produced exogenously and
ascospores endogenously.

@  Yeasts have filamentous bodies with:long
thread-like hyphae.

Select the correct group of biocontrol agents.

(1) Bacillus thuringiensis, Tobacco mosaic
virus, Aphids

(2) Trichoderma, Baculovirus,
Bacillus thuringiensis

(3) Oscillatoria, Rhizobium, Trichoderma

@) Nostoc, Azospirillium,
Nucleopolyhedrovirus

73.

74.

78,

76.

English+Tamil
Qevaser  Ol&e|D QI 6T L
auraflenevudlan Gurgl > GTCETES HHATHDS).

@) shHEHw  QuUFr@SHioTET ET TSNS
Bpsar_cubBleimbsl CHTel Galiwiam.

Ly el

1) QeresgieneTser epLLi(pelgl

2)  Ldedlumiio Qedsailen sarey

@ evurangd SCerle Qedsaid arHgl
BeoLGeuafl ﬁ@éa_aamma._a%lm@_f |

4 e @ngﬁllaamﬂ@ Fremiiu (b

enL_Georaen

Reuddien 6T SHeupnsst SpHO ?
(L) Qrri(eeT Lrs 2 ompuHpena
@)  ePEUTEISET S 1Tl spU_(Damariise

Q) evaugsbaaien LTS 26D oz GBI
sryefiurs QewauHib

@ GAWTEET SETSTFERTIONS DG &L LI L

Lrshismer Garargl

Gemeu(sd S pRsaTcr 675 SEUDIETS ?

)  CurQrosd (2-amres Sremret) WHmID
la o s AGDGET (Pevgsysarente) &8l (HLoS
©_GHTEHTS Jalg LIGHBE.

@  HerraflFCleiay L@ qﬁ,@agwnm (&6
LoHID GTED 6TEN. \g. SHETE (D PLPGLDTEHLD.

@ Qsraflguiisdr Lo QuFES-
wrsad, HevCaTavGLTTHeT S5 eue

QUHESOTSE] D GgrpmeildsU-
LS enma. B
(@ mevHser Bevpseer  GuTEND

o L aenolicoLl QETaTgHEGLD SieuDhhied
Bawm pré Gumend GO s o LI T HHET
gL HILD.

Elﬂu.lrrﬁu'_r 2 19 SLHUUTLE sTrel Gpera

CaipdaHEsea.

(1) Cudldowev gﬁ@ﬁ@w&ﬁrﬁa’t}, Lensuiiana
Qlomenas eELTeD, & s ldl(hEer

@ wagCareLiom, Liré @ Car eeua,

Gublevawad GiferdGlLicTEI6V
Q) Aol Grrflur, angGemdwib,
1. g GETGILION

4  previ T, &;@cﬁfﬁ'@i)@uﬁﬁi}w{ﬁ,
Bl gaflGuir LireSlGlanL Gy enaugev

T
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i

78.

79,

80.

Which of the following pairs of gases is mainly
respongible for green house effect ?

(1)  Ozone and Ammonia

2)  Oxygenand Nitrogen
3)  Nitrogen and Sulphur dicxide
(4)  Carbon dioxide and Methane

What is the genetic disorder in which an individual
has an overall masculine development,
gynaecomastia, and is sterile ?

(1)  Turner's syndrome

2)  Klinefelter’s syndrome
(3) Edward syndrome

4).  Down’ssyndrome

Due to increasing air-borne allergens and

pollutants, many people in urban areas are

suffering from respiratory disorder causing
wheezing due to:

() benign growth on mucous lining of nasal
' cavity.

-(2} inflammation of bronchi and bronchioles.

(3)  proliferation of fibrous tissues and damage
of the alveolar walls. -

(4)  reduction in the secretion of surfactants by
pneumaocytes. '

Match the fo]lowing organisms with the products

they produce :

@  Lactobacillus )  Cheese

(b Saccf?a_romyces G} Curd
ceretnsiae

©  Aspergillus niger (i)  Citric Acid

dy  Acetobacter aceti (ivj Bread

)  AceticAcid
Select the correct option. -
@ Mk @© @@
@ @ v @ G
@ @ Gv )
@ @ v ® O
@ @ @ ) o

7.

78.

79.

(a)
(b)

(©

@

P6
Slenaumeuaeup et aTps  euruSsaflen
Qavanr usewLWdo almarasE s
STFEULOMGLD ?
1 Gsrenm HpYw bCoraflwr
@  ballger wHmb B rmen
(B BLrRem wHmIDd FOLIT-mL-2s050H
@) smiue-eL-péamsd whmbd BECHe
Sleir GlsrHésliul_@ereraipmer abs wirys
G@OUT_14 @ wealgh CGurgeurs <yer

B L@ID, osaflEGaT wraviwre) gib

LDELTES sreriL@Geuri ?

D Lrarfler GrmiGerELLy

@  Seerardudifar Crrulsmeiy
& e Qeuf (Bg'-;rrt.u@g_sr,rr@ul_:l |

@ . Leyaflen CrmiQan@iiy -

arpild. siflsfdgierer qeiaramoyssl Qur

MLSETTEID, WrsURSHSMTRID FHTLILHES

afléh auT(pid WESETEEG ase Bwry Guran

HEUME LOGTL V& CHETETTIISET LI HTFawD :

O prés ePdan Careapl u_wsdHe
auem(hLd. SEISDHD SLpene

@  pEss ElenaTd GO GET LHMID APFHs
Slenem plawmEOsaTd THUL 6issn

@ pri fessaflen QuBEswd, sTHY
Bigwemeonsafisn Awgayd

@ Py Coreas’_Haer q;oilu.grﬁn_;ér_ Gawed
soflen spggmas GoDsso

CerGésuul @drer 21l fisaman NS

llener QuIrEGerm(h Qummgs)s.

&G mTdebevan Q)  urerm_&al
FEGGmeniodlay G Fulli

ClFflalF G

He0I T levay (i) &SNS spfleod
DBEIT

Y HAC_rLing_i @v) Qpmiy.

L 1g

() qz")!.é‘li"_lq_éi <y8levid
sflwren oSlenerwis CoibOsHssab.
@ (b)) © @@
O @ v @ G
@ @ G G
@ G v & @
@ @ O @ W

T
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81.

82,

83.

20

Match. the following structures with their | 81. Qar®s 5g'ul'_@ghm S1enlLY g;gi-r S|Ent

respective location in organs : ST 2 HULLE OUTGEES.

(@  CryptsofLieberkiihn (@)  Pancreas (@ eeuirdaisn @®  seneTLD

A . DI L1 {&6T
- 1 Glisson’s Capsul Duod .
W P mecpelapens @ Ruedenim b Sefiveveflar @) e fim
{0 ISIEtS gfL'angerhgns (?ﬂl) :Sma]l. 201§ GLO (<21)
' ' ' miestine . lq.@l.l_l I'I‘lq..ﬂ'TLD
@ . Brunner’s Glands @v) Liver © omstapraflear (i) Ao
Seloctthe correct option from the following : -@L“@&'&m‘ - o
s @  yypeenien . @) &0
@ . (b)) © « Grindser
@ G 6 @ @ Fiwnenr eleerws CoibOsHEm6D.
: e L @ B © @
@B @ @ O @ @ a @ )
e ke : @ @ G @

@ ay @ O (iv) @ G @ 0 (iv)

L o _ 82. irugn werulsdmar e marsgh Curs

What map gm_tl(Ceﬂ!nm?rgan) is adopted in the THE A@ILLL SRE (Qaéng risTen)

construction of genetic maps 7 OO :

. umaﬁr.p@g;g;uu@;ﬂmgjl? L

(1) A unit of distance between two expressed (1) @U’ﬂiﬁ(ﬂ Qauafliupssiiul L sensiens-
genes, representing 10% cross over. e Cuurear T oog 10%

@ A funit of distance between two expressed en&dsdir wropsdoman GOEEL.

~ genes, representing 100% cross over. @ @rend Qeusluu@ssiu L HensEns-
(8) A unit of distance between genes on ﬁﬁ)_"@u"'!ﬁ" H'Eﬁf _'5” ;gqm:-;@ _ 100%
"~ chromosomes, representing 1% cross over. GRECSST .mﬂmwﬁﬁ@@f EMEGLD. -

@ A t f di | bet @) @CrrCwrlsrwsafler 603 61 & (15 5 -
‘A unit of distance between genes on n iy i
chromosomes, representing 50% cross over. Q@"'{_guuﬂm @W, é{?ﬂ@ 1% epsCagh

| 5 , wrppsHos GHsEL.
@ @CrrCurGsrbsaiidar  BensEns-

Concanavalin Als: HerL_Quiuiren FIT 0@ 50% GnECsHT

()  analkaloid rHpslener GHEEGW.

(2)  anessentialoil 83. sransarGeusiien ¢ GremLig) :

(3) dlectin () @@ psmiL

@  apigment @ oo Hentb bl GTaRTlcwT

@ oo dadyar
@ @6 Hnd

Cells in G phase : < | 84 Gy Pleveuiled 2 émen @&éﬁuﬁfah :

(1)  exitthe cell cycle ) Qg spplenws efl () Cleuall Guimid

@  enter the cell cycle @ o sippFlufern oer pionipud

@ Qe sppdfleow  diblg  sreb

(8  suspend the cell cycle SHETOSITE HnssiD

(4)  terminate the cell cycle @ Qs swphienw wpyeapd Gelujd
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8.

-Select the correct sequence for transport of sperm

cells in male reproductive system. -

21

P6

85.. & QaQuU@mEs waTLsHe by

S5 S L [RD sflwmes -
CaipAsHEaeD.

‘eufl g e G

(1)) Testis - Epididymis — Vasa efferentia
— Rete testis—Inguinal canal = Urethra O dpssn — HU&W@LL&W - aﬁi;r;gl
) | wiei BTk &ar-— Gyl dlbssn —
(2> Seminiferous tubules — Rete. testis Qengutlared sraeumi — Snfirs @omi
—> Vasa efferentia — Epididymis 2 GQellefLGQura Gasda - Qrig
'— Vas deferens — Ejaculatory duct Apssd — eflbs b pIaTE S6T —
— Urethra — Urethral meatus - UL flev— &lpg prard —
B3  Seminiferous tubules —» Vasa efferentia ofipg Lbss @Qm o eﬂ;mﬁrra; @I"Qmu —
«> Epididymis —> Inguinal canal Hmpis gever
_ Urethra ¥ Qedlal.Quyev Grosar — . efpg
- | 60T BTemd &er — 6Tl 8 g e ey —.
(4) Testis — Epididymis — Vasa efferentia Benguilened srdeurit — Anbis @pmi
— Vas deferens — Ejaculatory duct @ &pssb — aulligeL ey — &b

— Inguinal. canal — Urethra

— Urethral meatus

BleTprerhiser —> ellhg Hratd — eflbg)
5558 Gloe — Gean@uiarsd sraeami —
AmBrs@rml — dnbits gever |

86. Which of the following statements regarding el GLrarangflur Ggriiurs QerGésn
mitochondria is incorrect 7 uLperer aTES FPY Seuyl ?
_ 1 ypluLeb, ssrrrrGurrsm‘@)mr@uL @&rr(j:gl_l
() Outer membrane is permeable to monomers
of carbohydrates, fats and proteins. _ Lo Llaﬂ)ggju:: th]:gl’ﬁ.l&iﬂﬂfiﬁr (Slon (G0 e
- i -par(med Slmen Carem_g).
(2)  Enzymes of electron transport are embedded ) Geuefllym UL GHD TSLTTE SLES
in outer membrane. - essten Oprdladr Qurdbgideren.
(3 Inner membrane is convoluted with ® E'f_"_iim LD ol LLsaTTe SGH(
infoldings. srantiuGE pgl.
1 @ eowlGirsrargfu - ovrifgedda
(49  Mitochondrial matrix contains single @heon el DNA ppedsmnib whmb
circular DNA molecule and ribosomes. e GLICsTbsemaTLth Qaremhierensi.
_ 87. dimgsallad” Hoasd@msd mrosdme
87. Persistent nucellus in the seed is known as: eTeuaUTMl fampd&stiuRSng ?
" Chala (1) ogemsr
() -Chalaza @  Quiie@uid
(2)  Perisperm @ @apobd
4y Qui_&Qie
B8) Hilum i
88, Gar@ésuul Gerearaimdldod L LML
(4  Tegmen EREFFQIESTE  Sryean  wHML A5
2 pPupssn Gergenenulan gflwnem Qe
88. Identify the correct pair representing the ergl erentd ﬁ.' a;m'rt_ﬂl.!_lmm. ..
causative agent of typhoid fever and the ) Sorrad Clomyg uind amaiamdet | w.q.g.
confirmatory test for typhoid. Gengenen
| o | @ eldgiCrrsrégaat plCwrellCuw |
(1) ~ Plasmodium vivax/ UTI test auLTe Gergenan
()  Streptococcus pneumoniae / Widal test @ eraCurolardar erid | bEGyran
| Gsrgenan
(3  Salmonella typhi/ Anthrone test @) e GurGlerddevr evi t1t9 | @auLrd
@)  Salmonelia typhi/ Widal test Gergean
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P6
89.

91.

92.

93.

22
]\{Iat?h the hominids with their correet brain | g9, QarHss) L (Rever @@}ﬂ'uﬁ] afll_senar DB 6w
S N _ sflwinest ppener Dare e QURmSS)S.
(a) Homo habilis @) 900 cc @) CGaprGuor apm9eay @) 900 cc
() Homo neanderthalensis (i) 1350cc b CaprGor @  1350cc
(¢0 Homo erectus (i) 660-800cc JGuireiT_Agsm
d Homosapiens av) 1400cc Clvsitdlan
Select the correct option. ©) CaprCur gyst_ab (i) 650-800cc
@ M © « & CaprCursmbweray  (v) 1400cc
® @ @& O bt BB O
N G G . ] O w @ G @
@ @ G o @ @ G @ O G
4 v G @ iy @ G v @ @
| * @ (v @ @ @
What is the site of perception of photoperiod
necessary for induction of flowering in plants ? 90, sreurhseld L Lssmw gL Comeuren
oy Late;-al_buds @efissrew sreuaiit s 2 amriiu@Emng ?
(2)  Pulvinus (1 usseur @ Gor_{Hser
(8) Shootapex @ oo mgiy
@4  Leaves @) samgen pef
@ Qewsdr
Which is the correct thermal stability order for o
H,E (E=0, 8, Se, Te and Po)? 9.  Aemeu@eaareupmet eigy Hofk (B=0, 8, Se, Te
() H,S <H,0 < HySe < HyTe < H,Po wHyIb Po) -e Fflwires Geuli HlepautsLy sewanLo
@  H,0 <H,S < H,Se < H,Te < H,Po auflens 7
(8)  HyPo<HyTe <H,Se <HyS < Hy0 EI; 7D =1y = MaBe < Dte < HgPo
_ 2 50 < HyS <HoSe < HyTe < HyPo
@ HpSe <HyTe <HyPo <H,0 <HyS ®  H,Po<H,Te < H,Se < HyS < H,0
(4) HZSE = HzT& < HEPD < HEO < st
The compound that is most difficult to protonate
fejis 92, YCGpriL Carhmd Qaeusne W&
| o Slg.noTer GETOW :
@ H-  SH 0
o " \H
O
P e e 0
HyC~ H @) H,C - \H
®  Hoo NCH, ® Ho-  SCH,
B O o L 0
@  Ph H ® Ph— SH
Among the following, the narrow spectrum 33. ﬁlﬁhm@mmm Do Goélw QEM@L’"L@S
antibiotic s : gingueLw piamapuit erdfl ;
() penicillin G 1 GQueifiden G
2) ampicillin @ <98 eSen
@  amoxycillin 8 siwrsedlfesten
(4)  chloramphenicol @  @Cemrpobuaismd
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o4,

95.

97.

98.

4d, 5p, 6f and 6p orbitals are arranged in the order
of decreasing energy. The correct optionis:

(1) 5Bf>6p >6p>4d
2 6p>5f> 5;5 >4d
@ 6p>5f>4d>5p
4 5f>6p>4d>5p

The method used to remove temporary hardness
of wateris :

(1)  Calgon’s method

(2) Clark’'s method

(3  Ion-exchange method

(4)  Syntheticresins method

Which of the following is incorrect statement ?

(1)  PbF,is covalent in nature
@  SiCl,iseasily hydrolysed

8) GeX,X=F, Cl Br, I) is more stab]e than
GeX2

(4} SnF,isionicin nature

Match the following

(@ Purenitrogen #  Chlorine

(®)  Haber process (i) Sﬂphuﬁc acid

(©  Contact process _(ﬁi) Ammonia

() Deacon’sprocess (iv) Sodium azide or

Barium azide’

Which of the following is the correct option ?

@ ® @ @
@ 6 @ @) G
@ @ v @ G
@ @ v @ @
@ @ @ @ 6

Conjugate base for Bronsted acids H,0 and HF
are :

(1) OH~ and HyF*, respectively
@ HyOt andF-
3) OH~™ and F—, respectively -

@  HyO* and HyF*, respectively

; respectively

23

98,

94.

95.

96,

97,

Pé
4d, 5p, 5f wdmid 6p T L raser gy bmedlen
Bt auflensudd mﬁlm&uu@g{guug@mmﬁm
gfilwren Qsfey :

(1) 5f>6p>5p>4ad
@) 6p>5f>5p>4d
3 8p>5f>4d>5p
@ 5f>ep>4d>5p

Bflar  sperdls sgabsarevew f&s
LesLI(BID (panD :

1) srosct e

@  Hamid qpanp. |

3 ausnﬂuurﬂmrrﬁ}m @mm k

@  Qswhens Qe gpéemp

&aﬁrm@@ummg)gm T Elﬂmpm aaxgygu ?

() PbF, seuGenanrisy gﬁmmmu_jml_lugj

@  8iCl, ereflgrs ﬁgrrrg)u@uum_ilg}@ -

B  GeXy-m el GeX, (X=F, C, Br, ) 2iHls
Pealiygsamonel g

4 SoF, quafls SO |EDI_ILIg|

Semeugmerameuhern GuITEss :

@ gnueplymer () . @Cermilan
® Gepuir i) . &5Hss il
Glswepany
€ sTaTLTEL. (i) wGureiium
Glasbapenm
dy GLarar (v) Gemgunbd
GQawdepenn A (A
Djev g
Guiwib
Senen(y)
Yeteucmeussoudiier ergy eflwsmen Qgfley ?
@ k) © @
O O @ @ G
@ @) W) O )
@ ) @ @ @
@ (v @) @ @

CIFT@sTei_1 aﬂmm&m Hy0 wpgio HF -én
Enem STTHISET

1) papGu OH™ wimib H2F+
@  eonGu HyO* wppib F~
®  wpenGu OH™ whgys F-

@ pepGu HyO0F whgh HF+
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P6
99.

100.

101.

102.

The manganate and permanganate ions are
tetrahedral, due to:

ey

@
(3)

4

The - bonding involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

There is no - bonding

The - bonding involves overlap of p-orbitals

of oxygen with p-orbitals of manganese

The - bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

Which will make basic buffer ?

(1)

@

&)

4

50 mL of 0.1 M NaOH +25 mL of 0.1 M

100 mL of 0.1 M CHCOOH + 100 mL of
0.1 M NaOH

100 mL of 0.1 M HCl+200 mL of
0.1 M NH,OH

100 mL of 0.1 M HCl+ 100 mL of 0.1 M
NaQH

Among the following, the one fthat is not a
green house gasis:

oy
@
(3)
CY

nitrous oxide

methane
ozone

sulphur dioxide

pH of a saturated solution of Ca(OH)y is 9. The
solubility product (K, of Ca(OH), is:

O
@
6)

@

05%x10-15

0.25%x10-10
0.125x 10~ 15

0.5x 10~ 10

24
99.

100.

101.

102.

I Eng]ish+TamilI

wrksCer. wpmib QurnrhsGan. Sweflsdr
BIGIApAWNs 2 dTenghE STrenTd :

ey

)
3

@

g sefigmaflen  p- M LTOHEEL 6
LT 1 ST & 6im d-%r'rﬁh'_l_'rr@s@'ﬂ
o aremL-&dlw

Cup@urmbg sene
- lenenTLIL

-1 QenemiIL (Bedenen

gsofigailan  p-pTEIl LTS ERL 6
LD T 1 & 63T &) 601 p- MGl LT EET
GHQurimba H6ne o gTeTL &l
- AlenenTLiL

Spseimafien  d-o T LrdsEpLan
LD IT Tt & 687 &) 60T d- L _redsar
Cuh@umrmbssene e cmeTL &&lw
-4 enemriiLy

GTEl FMH SMEIGMD 2 (HAUTHGLD ?

oy

2

3)

4)

0.1M NaOH -én 50 mL+0.1M CH,;COOH
-aim 25 mL

0.1 M CHaCOOH -em 100 mL+ 0.1 MNaOH
~aor 100 mL

0.1 M HCl -én 100 mL+0.1 M NH,OH
-6tr 200 mL

0.1 M HCl -er 100 mL+0.1 M NaOH
-5 100-mL

([ eneupeUGTEUDMIET gl RETD LSMDE Glge

urLeuTs eonsg) |

1)  @BLyen pEmFH
@  BsGsen

@) larer

@) &Hss ML AsHEH

Ca(OH), -en Qgefll w1 senyeadlan pH yang) 9

<p@W. Ca(OH), -6 senrgmen Qumsasd K, :

Y
@)
®)
@

05x10~18
0.25x1010
0.125x 1015

0.5x 1010
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103. Match the Xenon compounds in Column - f with

104.

105.

its structure in Column - Ii and assign the

correct code :

Column -1 Column -II
@ XeF, @  pyramidal
) XéFE (i)  square planar
© XeOF, (i) distorted octahedral
@ XeOj (iv)  square pyramidal
Code;

@)
@
®
@)

@ ® @© @
6 @ G W
@ @ G
@ @ 6O
G G O 6@

An alkene “A” on reaction with O, and Zn — H,0
gives propanone and ethanal in equimolar ratio.
Addition of HCl to alkene “A” gives “B” as the major
product. The structure of product “B” is ;

(1)

(2)

@3)

)

g
Cl—CHy—CH,y— CH
Ol
CH,

CH,Cl
| :
H,C—CH,- CH-CH,

cH
HyC~CH,~C - CH,
._ E: L
CH,
H,C~CH - (%_H
€l  CH,

Which mixture of the solutions will lead to the
formation of negatively charged célloidal [AgI]I -

sol. ?
(L
2)
3
@)

50 mL of 1 M AgNO; +50 mL of 1.5 M KI
50 mL of 1 M AgNO4 + 50 mL of 2 M KI
50 mLof 2 M AgNO; + 50 mE of 1.5 M KI
50mL of 0.1 M AgNO, +50mL of 0.1 M KI

23

103,

104,

105.

P6
ugdl I -é odrer Qeerrenr Cafmsamenr
ugd II -& zdrar sisafean SowiCur
QAurBsd whmib sfwmer GHluli_enL s,

gl - I Liggl - 1T .
@ XeF, O Qe
(b) XeFy ) 6T I

© XeOF, i) e m&Sfhs erawrupd
(@ XeOy  (iv) &gy dpdE
GO :
@ M) @ @@
H O i) @) Gv)
2 @ @ @ O
@ G @ Qg (iv)
4 @ G @ 3G

R0 wodar “A” Oy wpmbd Zn-H,0 o Ler
sllevaryflbg LrluGanmen wHHID THsamana
#fiGuwrent clflgsded smdng. pasar “A”
aLar HCl -gg Geirliugred Wigdlwera; aflener
Qur@merrs B’ fen_sfpg. o ener@ uimmar
“B7-6i jenoliL)

@
1) Cl-CH,—CH,-CH

L

CH;

(IZHQCI
@  HgC-CH,~CH- CH,

CHs
€) HSC_CHE-,?-GHB
Cl
oy
H,C-CH-CH
ey i
Cl  CH;

T HenrFseile seame it eSO enL 1)
g [AgI)I ™ smepey o (EUTEED ?
1) 1M AgNO; -er 50 mEL+1.56 M KI -

50 mL

@2 1M AgNO; -6 50 mL+2 M KI -ér
50 mL

@ 2 M AgNO; -6 50 mL+1.5 M KI -&
50 mL

@ 0.1 M AgNO, -ar 50 mL+0.1 M KI -6

B0 mL,
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Pé6

106.

167,

108.

169.

110,

For an ideal solution, the correct optionis:
1) ﬁm S=0at constant T and P

@ A V#0Oatconstant T and P

@& AyH=0atconstant T and P

(4 AL, G=0atconstant T and P

In which case change in entropy is negative ?

(1) Evaporation of water

(2)  Expansion of a gas at constant temperature
(3)  Sublimation of solid to gas

@  2H@E - Hy@®)

The number of sigma (¢) and pi (w) bonds in
pent-2-en-d-yneis:

(1) 10 obonds and 3 wbonds
(2) 8obondsand 5whonds

(3) 11lobondsand 2 wbonds
{49 13 obonds and nowbond

What is the correct ¢lectronic cénﬁguration_ of
the central atom in K, [Fe(CN),] based on crystal
field theory ? '

(1) t.zé ez
@t o
@ St
@ et

For the second period elements the correct
increasing orderof first ionisation enthalpy is:

() Li<Be<B<C<N<O«<F<Ne
(2) Li<B<Be<C<O<N<F<Ne
(3) [i<B<Be<(C<N<0O<F<Ne
(@) Li<Be<B<(C<O<N<F<Ne

106.

107.

108,

109,

110.

EngiehTam]
@ pOALIDL] sarsaisE sflwne Opfa, :

D A8 ... =0wmors T wppd P -

&l

@) ﬁv&%ﬁd} # 0 orprg T womn P -
) '&H@ugﬁdj =0 wrprs T whHpid P -6
@ .r:s.Gm(mf 0 wrprs T wHmb P -

rled erem’ Grm worHpid et i g ?
O B g elursd

@ wrprgs Gelufdlereudd @@ eury
aifleuenLged

@ damwsHelmbEl UTUEITS LSBIGOISE
@  2H(g)— Hye)

Quiem’_-2-uSen-4-ggaflér o crer g (o) WHHID
el () GevewrliLseflen eramanilGens

@ 10 o Genenmiyse wihayid 3 w GenenTlIL|S6T
@ 8 o lenanTILSET WhHmD 5 w NepesiILiEe
(3)  1lo YenenriiLigeT LoHMID 2 7 1SlenentiiL e
@ 13 ¢ Qevewiiser wHmd w eIl

Devenev

Uigsl Leod Qardrensuleanig K,[Fe(CN)g] -é
o grer enwwl igpeilen FRwrer ereél Fren
SIGMOLIL| eTemaEst ?

Wty €
@ty o
® ot
@ o't

@reaLrd  eaflang  seflwmiseflar s
Swelwrssd® erargréa@uier  sflwmen
gmeuflens :

(I) Li<Be<B<C<N<QO<F<«<Ne
2 Li<B<Be<(C<0O<N<F<Ne
3) Li<B<Be<C<N<O<F<Ne

4 Li<Be<B<U<O<N<F<Ne
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111.

112.

113.

114.

For the chemical reaction

Ny(g)+3Hy(g) = 2NH;(g)
the correct optionis:

L) _ 1 ANH)
@) 3 dt T Q&
d[N d[NH
@ - [dtz] -9 [d't 3]
_ diNg] _ 1 d[NH;]
©) a2 at
d[Hy] _ . d[NH,]
W g TR

The number of moles of hydrogen molecules
required to produce 20 moles of ammonia through

Haber’s processis :
M 10
@ 20
3 30
@ 40

If the rate constant for a first order reaction is k,
the time (t) required for the completion of 99% of
the reaction is given by :

() t=0.693/k
2 t=6.909/k
(3) t=4.606/k
4 t=2.303/k
The correct structure of tribromooctaoxide is ;
0O
Om N 4'0
O=Br—~-Br—Br=0
(D of 1N
0 O
: O
Oy 0 O _
@ 0=¢Br—Br—E{r:O
0 _ o
: O
0 e
i 0«‘;\ Il /O
G ©orkerbml
; Il
O 0 O
i
O?Q ;o 4,0 _
O=Br—Br—Br-
@ J/r lr' %1‘ O

27

Pé6

111, Geud) eflenamumen

112.

113.

114,

Ny(g) +3H,(g) = 2NH(g) -efilpaman
gflures Gafley :

G - % diHg] _ _ 1 d[NHg]

dt 2
d[N d[NH
@ - [dtzl _ 9 [dt 3.]
- _ d[Np] 1 d[NH;]
@ & 2 at
d[Hy] _ , d[NH,]
@ =g =2 &

Gapur Gewdgpepliug 20 Guoroser
2wGuraflurme o maurs@agsng Comeuli-
LD enemi ggen apassamsaisn Cordsee
CTERTERT | SEnG

O 10
@ 20
@) 30
4 40

(1 (PS5 cuens cllenanullen ellenanCeus O Hlel

k srafléd, @pg elewen 99% WoumusHE
CaeneuliBid Gy (t) ereuig :

1) t=0.693/k
@ t=6.909/k
® t=4.606/k
@ t=2.308/k

Leny 4OrmGuwr ouéLr o éamed -er sflwneo
BIEHWLILY :

O

O\‘a i 4"0
O=Br—-Br—Br=0
AN
0 O
O
O¢ 1 W _
@ ng"”?r‘fi’;):@
o
0 —
o, 9 0
~Br=Br-Br=0 -
3 [30/ ] _"r \B_O
O
&
o ¥ o
g OmpEErsRe0
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115

116.

117,

118.

H,C CH,
H3C—CEC—CH3—} >_=/\
H ~H

28

.Which of the following diatomic molecular species

‘has only 7 bonds according to Molecular Orbital
Theory ?

B O
® N,
@ G
) Bey

For the cell reaction

2Fe3* (aq) + 21 ~(aq) — 2Fe?* (aq) +1,(ag)

Emﬂ] =0.24Vat 298 K. The standard Gibbs
energy (ﬁ G@) ‘of the cell reaction is

[Given that Faraday constant F = 985[_}0_‘0 mol ~ _1]

(1) —46.32kJmol 1
2 —23.16kJmol™!
@  46.32kJ mol~!
@ 23.16kJ mol~ 1!

The most suitable reagent for the following
conversion, 18 .

cis-2-butene
() Na/liquid NH,
2 H,, Pd/C, quinoline
3 Zn/HCL
4 Hg?*/H*, H,0

A compound is formed by cation C and anion A.
The anions form hexagonal close packed (hep)
lattice and the cations occupy 75% of octahedral
voids.. The formula of the compound is :

L C;:A:?.
2y GCiA,
® Csh,
@ Cihy

115.

116.

117.

118.

EngilsmTamd

Slemeuamid Frram) ﬂp@.}&&@aaﬂm GTEl PLPHE
<ML Lrd Qararensiiug w SeneriiLsener

w_Hid dupmereng ?

@ O,
@ N,
@ Gy
@  Be,

‘Wlssean aflenemumes

2Fe3* (aq) + 21~ (aq) — 2Fe2* (ag) + Ly(aq) oD@

aﬁlmmuﬂ]eﬁr AL Al asL_Lq_rzrurr 2O (4, ,G®)
GTELIS

[@ar@asiinleareng : ourrGr  wmHlell
F=96500 Cmol 1]

() —46.32kJmol~?

@ —23.16kJmol"1

3 46.32kJ mol 1

@ 23.16kdJmol~?

Hereud wrHSHHG Hag sEbs sy :

H,,C _CH,4
H,C-C=C-CH; — >:,<
H H

He-2-19 L te 6
(1) Na/pimw NH,
@ H,, Pd/C, melGenredlen
3 Zn/HCI
@ Hg?*/H* H,0

e Garwbd Crmblen jweah C.opmib erdiber
2wefl A -ullemred 2 peursasiLBHmg. erdislar
swafsdr pCsran Apmhd Gurdss Ligs
siamwlenu (hep) o meurs@darpen wHmD
Cpirdler oiwaflad. eramupdl Qaupdlkisefie
75%-53 Blylydarper. Garngden ecurium( :

@ Coh,
@ Cghy
@ CA,
@ CA,

T
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119. Among the following, the reaction that proceeds
through an electrophilic substitution, is:

| .

1) @'—N201 CayOle, QGI+N2
; 1

@ @Hﬂﬂfﬂp QCHHC]

+c1, TV light, o —Cl
(3) '
c
(4) @—CHEOH + HGI@;@—CHEQ +H,0

120. The biodegradable polymeris:
(1) nylon-6,6
(2) nylon2-nyloné
3) nylon-6
(4) Buna-S

121. Which of the following species is not stable ?
(1) [SiFgl?~
2 [GeClg]2~
®  [Sn(OH)I2-
@  [SiClg)2-

122, Which of the following is an amphoteric
hydroxide ?

(1) Sr(OH),
@  Ca(OH),
(3) Mg(OH),
#  Be(OH),
123 The correct order of the basic strength of methyl
substituted amines in aqueous solution is :
()  (CHg),NH > CH3NH, > (CHy);N
@  (CHg)sN > CH,NH, > (CH,),NH
3 (CHg3N=> (CHg),NH > CH#NHE
(4) CHyNH,> (CHg),NH > (CHp),N

29 Pé
119. Deneu@EmauaToupmieT rsLITasar L H
G}J@u_lfrﬁ Gedab ellanen :

) @—sz.‘ll MQCHNE
AICI '
@ ©+ Cly—» QCH HCl

©+012UM+ cl al
3 _
(4) QCH OH + HC]MQ—CHE(H +H,0

120. = uiflwrp Hevgamib Ll
(1 mperer-6, 6
@  eoBeTEN 2-MHeVTE 6
8y ewmame-6
@  Quer-S

121. Glemeu(mLd wafsafia srgj _If.]aﬁﬁ@uqu SEHEMLD

SIODG! ?
ONCH A
@ [GeCl12~

@  [Sn(OH)*~
@  [SiClg}?~

122. 19 & e (5 6u @ e [ M 6 & &) o il w60 1
mapLrrsama(h 7

1  Sr(OH),

@  Ca(OH),
@) Mg(OH),
4  Be(OH),

123. GQgHe P [ V. S| Bansaf e
Brésemreden snrgsaenowlen sfunes cufiens :
() (CH,),NH > CH4NH,>(CH,),N
@  (CHg,N > CH,NH, > (CH,),NH
@  (CHy),N>(CH,),NH > CH,NH,
(@)  CHgNH, > (CHy),NH > (CHy);N

T
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124. The major product of the following reaction is :

COOH

strong heatin
+ NHg——— g,

2

@)

@

| .NHE'
: :NH2

125. Which one is malachite from the following ¢
(1) CuFeS,
@  Cu(OH),
@) FegOp
@  CuCO4.Cu(OH),
126. The mixture that forms maximum boiling
azeotrope is:
(1) Water + Nitric acid
(&) Ethanol+Water
(3)  Acetone + Carbon disulphide
40 Heptane+ Octane

30

124,

125.

126.

Yl e eu (b ol en carud et 8 @ S wiatey
aflenenGlLIm(mer :
COOH
+'NH, Sifisw0ns @@Ufﬂﬁ'@!ﬁ@;
COOH
COOH
CONH,
0.
0O
COOH
NH,
NH,

NH,

AeeL(heuaTelHNIeN 6T LTSI ?

(1) CuFeS,
@  Cu(OH),
@ Fe0,
@ CuC0,.Cu(OH),

Cuawl Qsrdflaw Qsrar. Asrdbow
orpT GETSMmS o (HeUrS@Geug) :

B Bi+eplfis Hybleon

2  ergsenmed + bir

@ ALl + &riLIe enLseenLi(d
@ QaniiGer + 50 ér |

T
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Pé

127 Identify the incorrect statement related to.l_?Clﬁ' 127 f@m@@ﬁum@mﬂé chﬁ_ﬁ@ -'{;,}'g,m;fmml_-u_,
from the following : sflupm, S SaATL )
() Three equatorial P~ Cl bonds make an angle O @y sereud ‘Pl v emr i1y 55 6ir
of 120° with each other - gréﬁ;@éé@d'r . 120° - G&rllréiarrgsﬁ)g
@ Twoaxial P~ Clbonds make an angle of 180° 2 (meuré@denper. o
with each other @ Grav® eiEsesf P~ Cl e ewTi’) Ly s
(3  Axial P- Clbonds are longer than equatorial 1818615 & & 6ir 180°  Gsramgens
P—Clbonds 2 (halr&@dlemper.
4 PCI molécu]eisnon—reactive 3 ;g;éaesugﬂ P—Cl enemriiysar gereuf
P - Cl Qavamriysamen el Bansrenaneu.
128. Under isothermal c,enditiﬂﬁ, a gas at 300 K @ PO CPevssm Gﬁ]@m‘@g D SIDDG!.
expands from 0.1 L t0 0.25 L against a 'constant 128 Qmﬂuﬁ]mm WIror s Ga L
_ : . oI Blupsanaruiey, 300 K -4
;:;Ei?al' pressure of 2 bar. The work done by the & ar 20 @y 2 bar OTDTE Qv
o HPE558D6 afms 0.1 L -l b
[Given that 1 L bar = 100 J] 025 L -ya dlfleuent Apg. arryarre
O - 30g QeEluu@w Gaineowirang T,
@ 5k [QEFF@SSELJLJL@GITG‘FT@J + 1 Libar=100J]
L —-30J
3 25J @ 5kJ
4 30J 8) 25J
@ 80d
129, Which of the following series of transitions in the
Spectrum of hydrogen atom falls in visible | 99 e mid ﬁ]ﬁmmmﬁmm }Emﬂmaﬂ@ﬂ'@ T g
region ? WAL TR oigmeden Blowrene ude
(1) Lyman series SLUDam@b LgSHule alwleme) ?
(2)  Balmer series D eawd aflas
(3)  Paschen series @. ureio a‘”ﬁ@gl
4  Brackett series @ pel
@ GrEGs aiflas
130. Which of the following reactions are § .
disproportionation reaction ? 130.  Slemoumpid eSenenaaiier erepay lflss Aamgay
@  2Cut - Cu2+ +oud cllepemaser ?
. _ @ 2Cu* - Cult 4 oy0
®  3MnO; +4H' 5 2MnQ, +MnO, +2H,0 ® MO+ 45t 2MnO; +Mn0, +2H,0
© 2KMnO; 4 K,MnO, + MnO, + 0, © 2KMnO, A, K,Mno, + MnO, + O,
@ 2MnO, +3Mn2* +2 20 _} 5MnO, +4H® @  2MnO, +3Mn?* +2Hy0 — 5Mn0, +4H®
Select the correct option from the following : @G?T?”(fﬁﬁ”m@um ger - efwner - Gz flaal
@ @ and () only i
| D () wHmb k) WL
2 E.bandl @ @, ® wpgis @
@ (@), (c)and @) @ (@), Qb @)
@  (2)and (d) only @ (@) whmb @) i@
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131

182,

32

131.
For a cell involving one electron: ESp=059V at

298 K, the equilibrivin constant for the cell reaction
is :

2.303 RT
¥

[Given that = 0059 VatT = 298 K}

1.0x10%
'-10>-<1-:15
1.0% 1010
1.0% 103¢

®»
(2)
@
@ |
The structure of intermediate A in the following
restction,_r 13 :

OH

P
Aad
0”6\
CH,
(L
H,C-C-0-0-H
®
CH,
0-0-CH.
1
CH
3 :
CH,-0-0-H
HG/ T
™~ CHj
4)

132,

[EnglishTaimi]
208 K -, Q@b TS JIene 2 arem_F8lul g

Sarsweier Eqp=059V %@m N saen
efenanudien FLofBlene wrHled :

2303 RT__
[Gas:r@a&aauul_@imm@ T=298 K . o =0. ﬂﬁﬁ‘vil

O 1.0x10?
@) :1.0x10'0
@ 1.0% 103“
:ﬂmm@m eﬁim@ruﬁlm @ml_.ﬂaﬁ:-mu Guw@m
A - e;immul_]
.. CHg i s
a” OH
"NCHy. -
L -0
+ HsC N cn,
ey
@
c
0-0~-CH
[
CH.
(3) @ it
HO~ cn
@)
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133. The non-essential amino acid among the following

134.

136.

136.

137.

is:

(1) 'vaiine |
(2) leucine
3) alanine
@)  lysine

A gas at 350 K and 15 bar has molar volume

20 percent smaller than that for an ideal gas under

the same conditions. The correct option about
the gas and its compressibility factor (Z) is :

(1)  Z>1and attractive forces are dominant
@ Z>1 and repulsive forces are dominant
(3) Z<1and attractive forces are dominant
(4) Z<1andrepulsive forces are dominant

Enzymes that utilize ATP in phosphate transfer
require an alkaline earth metal (M) as the-cofactor.
Mis:

(1) Be
@ Mg
@ Ca
4 Sr

A mass m is attached to a thin wire and whirled
in a vertical circle. The wire is most likely to break
when : '

()  the massis at the highest point

(2)  the wire is horizontal

(3) the massis at the lowest point

(4)  inclined at an angle of 60° from vertical

gH:’iV
0 R
=/ -4
A1 —3LED (Y)
SR
0 :
5/ .
B 1

The correct Boolean operation represented by the
circuit diagram drawnis :

() AND
@ OR -
3) NAND
(4 NOR

133.

134.

135.

136.

137.

Pé6
Meraumenaaupmer Csmeaiwpn blGearmw

‘ol : -
1) Qousllen
2 afler

(3) < eeneen
@  eeflen

350 K wpmid 15 bar - 2.drer ¢p(p aumujelenn
GurorT. sarglerey 4Cs Heuliublae wHmLD
SU(585HD 2 aTer @@ BOSDL auryjame
Sl 20 sg6igib @mpauTs 2 6Teng). Sibs UL
LoHHID DB SipEsSE e smyent (Z) Lib B
gflwren Gafley: o

(1)  Z>1wpmb ririiy elenaser qridluereres
2  Z>1womb erdliiL) ellengse i iaTemer
3 Z<1wpmbd Tl eflengaer cridluemere
@  Z<1iopHmberdiiy efenaaar gl jdreme
urenGu wrimssledr ATP - uwaiu(BSEIb
QAprsErs® @ sy wear 2 Corsn (M)
glowews  srraiwrs Cealiu@dpg.
M ereitiig :

(1) Be

2 Mg

@ Ca

4 Sr

&(m Qe sn@uller gm apevandé m’ Hlenm
Qearssiul (R Gerigss alLnrs
FHouLhdng. sod Cpswrs wdleymibd
Hlenew, eTeiLg) :

O Hleap WU 2wl yerafled e srer Gurg
@ &b e _gzerons o aren Gurg)

@  Heap Amiw 2wyl Lieraflulied 2 erer GLImg
9 sbA fenin’t gHlis 60° FTiieuns 2 6rem

Curg
+6V
/0 4
Al 3 LED (Y)
» SR
y _
B 1
Slemapm Ll GHAED sRwner Ll
Gewebum® :
() AND
@ OR
(9 NAND
4 NOR
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Pé 34
138, Six similar bulbs are connected as shown inthe | 138, @m @45 Bar  NasEsar UL &Eleb

figure with a DC source of emf E, and zero internal
resigtance, :

The ratio of power consumption by the bulbs when
(1) all are glowing and (ii) in the situation when
two from section A and one from section B are

sl ujearereunm e Coidlens L6 ppeo &g b
QavamssliLi(pEpg. Crprdas e apagdan
Blenaiise ellens E hyb 256 1 IemgemL
LBBLD GG : -

elowing, will be : 0  siewasz AasEasenn gallaw o1 (LD
Gurg '
P — i A -ugdldmpgs Q@ NaTsEsEsL,
A l,]% B -~u@dlulledlmibas epp ellatd@gid gaflanw
M e lapd Curg Qeusfigy Hlapeysaiie
Nl vweru@RssiLiin Spaflar wepwres
chifigid,
T3 > ——>
™ [%] o
I "
E ML M
M L™
2) |
® 'E
@ 2:1 H 4:9
2 9:4
o @ 1:2
189, Two similar thin equi-convex lenses, of focal length @ 2:1
feach, are kept coaxially in contact with each other _ _ _
such that the focal length of the combination is | 189 /- @eilw Ggrawa; derar_ Qm ¢ée G
F;. When the space between the two lenses is. s goldlomasd @f Fs Saosudia
ﬁudeed ‘i’(Vith glyﬂ@ﬂhh(awﬁilla has t}lllﬂ Sﬂ}J:lﬂ TEf{'ﬂCIﬁVE paCprGiram Qs H& Qsram@erer Gurg)
index (u=1.5) as that 88) then the equivalent Lo HGIE .
focal length is Fy. The ratio F, : Fy will be : %@ ekt gedos Gprean L. Be
LMW EFHS S GlenLule o _arar
Q 2:1 Qe Qeuafienw [saweanTies@GE  FobTen
@ 1:2 oflefiewsed erameneanty Wupmerer (u=1.5)]
@ 2:3 eﬁiaﬁ&fﬁ@h {.?a;rr:ia'ur(};n lr_F,lJ;r1L|.|_i|.bp (Burrg‘j
As@miLmwlfler Gdgrguwe @elwg
@ 38:4 Ggmenave| Fy erelleh, eldigip, Fy : Fy =
1 2:1
: ; ; . @ 1:2
140. The displacement of a particle executing simple @ 2:3
harmonic motion is given by @ 8:4
y=Ap+Asinut+ B coswt. 140. eraflu Sfens Quisssans CupAsmarEnid @b

Then the amplitude of its oscillation is given by :

gisater @ HllLwFss)
y=A,+Asinet +B coswt @

D Ay +vA? +B? SIF6 Demaveilen 61Fa eTerLg),
® JaiZipt O Ay + VA% + B?
@  JA? + B?
® aj+@+nf ® A} +@a+By
4 A+B @ A+B
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141,

In which of the following processes, heat is neither
absorbed nor released by a system ?

(1)  isothermal
(2) adiabatic
(3)  isobaric

@  isochoric

142. A disc of radius 2 m and mass 100 kg rolls on a

horizontal floor. Its centre of mass has speed of
20 cm/s. How much work is needed to stop it 7

1y 34
@ 30kJ
@ 24
@ 14

143. In the circuits shown below, the readings of the
voltmeters and the ammeters will be :
108} iy 10 Q) ig
e 4 v & :
N : 100 :
W— & By
! I
10V 10V
Circuit 1 Circuit 2
@3 V= Vz_ and ;=1
@ Vo>V, and i3>,
144, o-particle consists of ;

(1) 2 protens and 2 neutrons only

(2) 2electrons, 2 protons and 2 neutrons
(8) 2electrons and 4 protons only

(49  2protonsonly

35

141.

142.

143.

P6
Heraumbd Geudwapsaid ardd GQeuliut
o flgpeiuLrogid, GQeuaflud Ll rogy)h
2 GTengl ? "

(1) wrpr Qeudfléney
@  Qeulin wrpdL_pp
@  oTpT WSS

4 TP L

100 kg feopuyd, 2 m oy Gareri
ol L gt .() e HaLgsen sordd o mean()
decdlpgl. s e Hlanp ervwsslen HleamsGausid
20 em/e. aul L G114 6t GluSEsEmS Bnissieusnes,
QeiwuuiBin Ceuameuiien ieTa] wrg ?

1 3d
@ 30kJ
@ 2d
@ 1J

&G sl LU Heter Wenabmisaild, Geurdl
Bl frear wHgd SIS fad srl@ib
Senel(RaeT

100

144,

Poo L &
g - 10 O ~
— & &)
1 |}
10V 10V
Blesrahay 1 WBlemaphay 2
) V>V, opmi iy =ty
@ V =V, whmibd i >i,
@ Vy>V) oppid iy > i

o-SISETSET Qeumenm GlLbmeTerer ;

D) 2 ySpmlnenser HOID 2 Bluil prenser
WL (HLb

2  2eres_yreanser, 2 HGrTLLTenSeT HMILD
2 Byl gremsar

B 2 eTeslyrenaeT HmIb 4 LCHTLL TeTEeT
L HID

@ 2 yGyrlLrénsdr il {Hib
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Pé6

145.

146.

147.

148.

Two particles A and B are moving in uniform
circular motion in concentric circles of radii
1, and rp with speed v, and vp respectively. Their
time period of rotation is the same. The ratio of

angularspeed of A to that of B will be :

M ry:r
2) wvstup
B rpiry
4 1:1

"For a'brtype gemiconductor, which of the following

statementsis true ?

(1) Electrons are the majority carriers and
trivalent atoms are the dopants.

2) Holes are the majority carrlers and trivalent
atoms are the dopants.

(3 Holes are the majority carriers and
pentavalent atoms are the dopants.

@ Electrons are the majority carriers and °

pentavalent atoms are the dopants.

Which colour of the light has the longest
wavelength ?

1) red
@  blue
(3)  green
@  violet

Pick the wrong answer in the context with
rainbow,

(1) When the light rays undergo two internal
reflections in a water drop, a secondary
rainbow is formed.

(2} The order of colours is reversed in the
secondary rainhow.

(3}  Anobserver can see a rainbow when his front
is towards the sun.

(4y Rainhowisa combined effect of dispersion,

refraction and reflection of sunlight.

36

145.

147.

148,

English+Tamll
G iow il Lkisalld @@ ssaser A wpmid
B §|;rrraﬁr L Qussgdle o dreran. L -
uregsaiien 2rhiadr pepGul HmID g,
HawsCaigmisear papCu v, wLHDID vp.
gisaTSanen Fphésaren Sdwey CHIH G
g erafle, A-én Garewr Heane Coussdh@d
B-én Garemr Hene @ﬁua;g.g%];p@mrrm afﬂé'tgm

(1) + ¥
(2) Uﬁ - U
@) rpiry
(4) 1:1

B0 p-aiws Gop sLEHI0E, EpsseTL ahs

sapy eflwiresg; ?
(1) sl rrarser,. . QumbureTenw
\Sletier e LHYID epeg) E)enenTdlmes

2 ML &@E&W LD S r::stlJI'l'(I:}')I_-E":'u{-i'l'l'

2

gleraar, Qu@pbLITaET®L Wleer bElser
WHYID e -BeavawSmern eenL

@55@ﬁ orE QUITRLSET.

B geenser, GughbUTETEL iBlei erpdlae
wHWD Bhg HoamHpdr

GG ST, - oM & GLIT(HL_&6T,

2epLwl

@ T FTeNEET, @ L 5 DL T 6T 60 1D
BlenerbEser whmb pbs Geeamdpar

2 GOl SIGISEET, 1omg QTR ST,

gaftlfer. ey Hpd  Borworer o
Berapen_wig) ? |

Q)  Seuy

@  Bow

B u&ems

@  emmgmir

Gurrmsﬁlm.‘;@@urr@ QarifryeLw Seuphres

eflenL_enwi serbi_ () -

1) Brsgefseer @@ﬂ&&g‘,lrrmm Bm s
aHAprallliysEEéEE ELL_u@faug;rr@
@rermb Henew cureneler CaremmSnsy.

2 @Qrarimd Hlew - araralldale
Bprseafian cuflens smadiors Siamowb.

@)  @f gpiieureri Giflwenar Corédl @ ma@Ld
Gurgy eurareiidhencrd STeRTATLD.

@ @hw @mﬂ" :"stiém_u_]Lb BouGies,

qeflellesd wombD el afltrmaissd
& weuhHBle sl 5 eflenereured curamaien
Ggrenyélng.
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149

150.

151

_ present near the bottom of a fully filled open tank
‘of height 2m. Taking g= 10 m/s2, the rate of flow
of water through the open hole would be nearly :

(ijf - 126X10~6m¥s
':»I(2).--' 'R.9% 10~ 6.md/s

@  228%10-6m¥s

4 6.4x10-Smd/s

@)  ~34eV, ~3.4eV
@ - 3.4eV, —6.8¢eV
@ 3.4eV, -68¢eV

@ B3.4eV. 346V

@

| . [(mt) B
2 yb=4 Sm["z—j.,_ where yinm

37
A small hole of area of cross-section 2 mm? is

The total energy of an electron in an atom in an
orbitis —3.4eV. Tts kmetm and potential energies
are, respectwely

The radius of circlé, the period of revolution, initial
position and sense of revolution are indicated in
the fig.

y “projection of the radius vector of rortatmg particle
Pis:

J}E'(t) = —3 cos2mt, where y in m

3wt
@ . Y= 30‘33[ ;T J where y in m

[t
@ ¥ =3cos (-2"} , Where yinm

149,

150.

161.

Pé6

2 m 2 WFEpETar (PIPEuFLD. ﬁ]mjuuuf_L &R(M
Sps swaflar 2lgLEHed 2 mm? Gnée
Qaul @ LIy QareTL g Am glever 2_drangy.
g=10 m/s? erends Qsram_ra, Hops geerier
anfGu  Qedaid BCrriggen @ﬁg,m
Garymwuiors

(1) 12.6x10-%m?3/s

@ 89x10-%m3s

@ 2.23x107%m?s

4 6.4x10 " %m3/s

@0 Ngdlar @ GHUGL. ebnd

L SEl@reTem eravdi rmeflen Glu:wrgg < DD
—3.4 eV arafl®, oigen @u_aa;as wpib Hlee

< hoesar wennGu :

1) —34eV,-34eV

(2 —34eV, —6.8eV

(3. 34eV,—6.8eV

4 3.4eV,34eV

L gHen. =rb,  Smes GBrib,

GgrLdspiena - wHoyb soHéder Hene

pHuma uLgder i@l iUl Gererar.

J;.Jh

P erguid spanb giseflen wur QeusLrg ey
y e, oy :

1) y{&)=-3 cos2mt, EmE 'y, m S &led
aéiT’GrT@'.
t
@ Y= 43111[w ] @ueE ¥y, m odd
Eie'rrm@.
: 3t AL . b
3) yt)=3 CUQ[TJ’ '@@@'y_: m ol
2 GTETg).
7t
(4) y(t) = 3*309( J @G v, m Sadld

Q;G'rr'srr@ :

collegedunia:s

India’s largest Student Review Platform

T



Pé6

152,

153.

154.

155,

The unit of thermal conductivity s :
1 JmK-!

@ Jm-1K-1

@3 WmK-!

49 WmI1K-1

A body weighs 200 N on the surface of the earth,
How much will it weigh half way down to the centre
of the earth ?

@ 150N
@ 200N
3 250N
@ 100N

Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The
collision is head on and elastic in nature. After
the colligion the fraction of energy lost by the
colliding body Ais:

; 1 5
() T
2 2
2 9
4
(3 3
5
@ 3

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is {lowing
due east. If he is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes

w.x.t. north is given by

(I  30°west
2 ¢

3) 60° west
4  4b°west

38

162.

163,

154.

155,

Qaniug sL_gg Spaflen S0 :
(1) JmK-!

@ Jm-lK-!

@ WmK-?

@ Wm lK-!

yeflu@er Cupurinfed @ Gurmetier erenl
200 N @5 o arengt. yeflulien enowisSing L
girsHd SLQLUTHeRan erepL. wrg) ?

(1) 150N
©® 200N
@ 250N
@ 100N

u -HewsCaussdd pamb ‘4m’ Henm Glsramm
Qurmer A, giley Peaulgider 2m’ flop
QararL Qurmer B -ar Bg Quduren Cpi
BLd Corsese =L ufdpg. SLAYDHD
QbGLrseiée Daat Gorggmin Gurmer
A Qb5 Hn eSS

1
(1) Y
8
2) 3
4
(3) Y
5
@ g

flevowrs odter fle Fhguambier Causb
20 m/s. Spsers FErmiLb QsramL gphdle
grgueafea Gausb 10 m/s. AgnE smrulld
Fp@h et Bein uregitid Syhep sL58
AmyApri. e Hepsemn GUNGES e
Bis Couammg i Carawrd eremug) :

@  30° Guie
@ o

3 60° Gups
@  45°Cuhs
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186. A cylindrical conductor of radius R is carrying a

157.

158,

congtant current. The plot of the m. jnitude of
the magnetic field, B with the distance, d, from
the centre of the conductor, is correetly

represented by the figure :
B .
8y N\
R d
B
2)
R d
B
® /|
R 4
B :
@ :
R d

When an object is shot from the bottom of a long.

smooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x; along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same
velocity, it can travel x, distance, Then x, : x,
will be :

@ 1:42
@ Jz:1
@ 1:48
@ 1:243

A solid cylinder of mass 2 kg and radius 4 cm is

rotating about its axie at the rate of 3 rpm. The

torque required fo stop after 2w revolutionsis :

1 2x1076Nm
2 2x1073Nm
@ 12x10 4Nm
@ 2x108Nm

39

P6

166. B -gmb Qaram. @ 2.mener auigeu ésl.“({raﬁl'

1587.

158.

wrprs WarGami_gmg swhs Qeodpg.
B-arpgliyagder aanr wdlidpeod 5648
@wwusddppgae Agrawe d-s@orear
cuanrLIL Seg sRwns GollLg :

B [l
M N\
BE d
B
@)
R d
B /
®)
R 4
B ‘
@) ;
R d

SlenLgpeardgian 60° Frieurs o aram Berome
LOHMID GUPEULBLILHTET FTLIGETESHD Gaeh GLimgper
aftwiupn Cury @m0 gor Haosle x,
Agraneey Lwtewnd Qelidlpg. sriie Cafremd
30° 6 @opssuulL fowdd HCs
Qurmer 26s HavsCaussdd srHluiiLGibd
gl 858 gIFLd x, erafled, x; : 2y

DO 1:42
@ J2:1
@ 1:43
@ 1:243

2kg fleopujid, 4 em rapld Qarar. g Sewmo
2 (IHeneT g SiFHean Qumssg) 3 rpm efsid

spadipg.  2m sphfls@mse Upg
25Cararsdar  sphHfleow PnssusHe
Goamauwsiren Sy efeps :

A 2x107Nm

@ 2x1073Nm

3 12x107*Nm

@ 2x105Nm
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159.

160,

161,

162.

40

At a point A on the earth’s surface the angle of
dip, 8= +25°. Atapoint B on the earth’s surface
the angle of dip, 8= —25°. We can interpret
that : ‘

(1)-: A-and B.are both located in the northern
‘hemisphere.

@ A is.ldcated.'m the southern hemisphere and
B is located in the northern hemisphere.

(3) Aislocated in the northern hemisphere and
B is located in the southern hemisphere.

(40 A and B are both located in the southern
hemisphere.

Tonized hydrogen atoms and a-particles with same
momenta enters perpendicular to a constant
magnetic field, B. The ratio of their radii of their
paths rg @ 1, will be

» 2:1
@ 1:2
@ 4:1
@ 1:4

In which of the following devices, the eddy current
effect isnot used ?

(1)  induction furnace
2 ‘'magnetic braking in train z
3) electromagnet

(4)  electric heater

A force F =20+ 10y acts on a particle in y-direction
where F is in newton and y in meter. Work done
by this force to move the particlé from
y=0toy=1mis:

(1) 304
@ 5J

3 254
@ 20J

159,

160.

161.

162,

English+Tarnil
Liefludler Gopum e o srer Lerafl A -an Fflays-
Qarewtid = +25°, B-anr sfaysCararid
8= —25°% crefled, @aeven Siflps Qandreramb.

O A opmbd B G® qmaﬂ&@m QUL
éiﬁﬂﬂ@&ﬁmﬁﬁﬁﬂ o emerer.

2) @ﬁﬁﬁf SrGarardddad A -y, el
SimyGarargSier B -ub 2 evere.

B aL gorGsrasded A ;Mlb,.@gih
2erCaraTdHod B -ub 2 dreres.

@  Auwbdgd B @remin Cgen Sienys-
Carengfled o ereren.

SIUlWrEsULI_L. Any TR6T | anidHsese
LOPpMILD & ~FISETEHET, FLOLOTET £ HHHBIBHEHL.60 G(h
WIOrS. sTHsLOW B-& 2ghE dem@Gssns
mieopdlanpar, erafled . masafiar ures
Sprisefien N ry 1=

G 2:1
(2) 112
@ 4:1
4 1:4

Spssar argafld, spd BanGamiL eilmare
pvwieTL(HESSILIL_ellevansd ?

1) Dengrermg. 2 6me
@ Qrudeder o drer Err'r_‘r)g: ‘lﬂg@ﬁ

(@  Nensnbsbd

@  Berm Geulingplis.

sa(m fens F =20+ 10y, y- flens i e glsetlen
Bg Qeudu@ang. @Qiig F Hul e
sioflgib, y BLLT edlgib 2 érerar.
SISF) &G y--ﬂ ~B@Hg y=1 m ﬂmm&@
BETSEICUSNE @ma‘fﬁm& G‘!&u_lg Gmmm

@ 30J
@ 5d
@ 254
@ 20J
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163.. A block of mass 10 kg is in contact against the
inner wall of a hollow cylindrical drum of radius
1m, The coefficient of friction between the block
and the ‘innér wall of the cylinder is 0.1. The
minimum angular velocity needed for the ¢ylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :

®=10m/s%) . .

® o fa’é;fs

Gy 20T
;=2ﬂ"“n;
@  10radls

4 10wrad/s

164, A copper rod of 88 ¢cm and an aluminium rod of
unknown length have their increase in:length
independent of i Increase in temperature. The length
of aluminium rod is : (@, =1.7x 105K~ 1 and

ay=2.2%1075K -1

1) 6.8cm
@ 1139cm
@ 88cm
4 68cm

165. An electron is accelerated through a potential
difference of 10,000 V. Itsde Broghe wavelength

is, (nearly) : (m,=9x 10~31 kg)
1) 122x10-13m
@  12.2x10-12m
(3 12.2x10"l4m

@ 1220m

166. Which of the following acts as a circuit protection

device ? -

()  conductor
@  inductor
@  switch
@ fuse

41

163.

164.

Sipios Garem HovoGousid :

P6

10 kg Hleop Qarain. sl gachm, 1 m pyib

Clerewr_ o erafl_pm 2 @renerudlen o or saupCor
Aeri(é Qerem@derg.  slaL &G,
2 (penerudar o & sauBEGL Qe CGuuwirer

2 JTe) Gearsw, 0.1. QFh@Gss Blawudd

2_GTEm 2 (henem Iigen JFfSD Swend Curg,
sLavl Blevaowrs Quliugherer o (penarulan
(g=10m/e?)

(D). Jiﬁ rad/s

10
2) — radfs
5 2w
B3 10rad/s

@ 10w radls

88 cm- herapeter @ sTET Saw® wHY D

QAsfwing Berd Qsream @ sigilafiu sarE
fwenpdler for wfafiy, Qatiufama
siFsfllennis sripgssaw e, Sigblafu
Setmig.ei Herid :

(@ =1.7x107K~ L ipponbd ey =2.2x10 5K~ 1)

165.

166.

(1) 6.8cm
@ 1139cm
3 88cm
@ 68cm

10,000 V Slesranpss GCoumyim’ e apBiéeE-
eflEsLL@ID craslyraflar 4 -1Arred siemabend
(m_,=9x10"3! kg) {qg)m@r,ﬁmmm)

(1) 12.2x10718m

@ 122x107%2m

@) 12.2x10pm

(4) 12:2 nm

SleeumeuemeuDmieT Tgl Gn WeTaDHN Sré@D
smedlurs dewduGidng ?

D  sLgd

@  \Bengna
@) sellé

@ omd

T
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167. Two parallel infinite line charges with linear

168.

169.

‘charge densities +A C/m and -\ C/m are placed
at a distance of 2R in free space. What is the
electri¢ field mid-way’ between the two line
charges ?

(1) =zero

(2) e N/C
(3 p— N/C
) 2_” :ﬂ RNfc

Two point charges A and B, having charges
+Q and —Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transferred to B, then
force between the charges becomes :

(D) ¥
9F
@ 35
16F
@ 4.
@ =

A hollow metal sphere of radius R is uniformly
charged. The electric field due to the sphere at a
Ehstance x frﬂm the centre )

ncreasce as r increases for r < R and for

(1)
r>R

(2)  zeroasrincreases forr <R, decreases ast
increasesforr>R

(3)  zeroasrincreases for r <R, increases asr
increases for r > R

(4) decreases as r increases for r <R and for

r>R

42

167.

169,

Oy

English+Tamil

B® Pevenmuiren wpy.eileor auil Sl eI L TRISET

Quppierer CrrCam { Weneprll. i T&Heer

+X Cfm wpmid — A C/m. Geuelim Blengpm -
s@Epd 2R Qe Geuaflbler Qaphlgded
o dreran. @euelm cufl BlaTgrl L ks endé-
Sean Gt enlowsdled WleimLien ol g ?

O ygBu

@ wf:R N/C
® N/C
@)" M Nie

e 2TFEDR

168.. Aw |_|re:n‘<aﬂ Nenrgrimsar A wpgb B

Gl meem Olengnl LiiseT wenCu +Q LoHDILD
~Q <. Gauedim WeTar LkisEsh &b
A L Asrees GNss @assiu@n
Gurg <eupdinda Cuurar  &lams F.
A Quibmeten Wlesnii LSS 25% B-&@ orHoL-
Ll mey  @euellgn Wleranr L mkisEns - Slen
Cuwire ellens :

@ F
9F
T
16F
@ 5
4R
4 ry

R “grh QeravL @@ sdaflpn e Cors
Careamd Frra WeanGarhmnd Gebwlin@dng.
Cararsfar eSS GHE 1 -Asranaeded
GarergSlenmed 2 (Haum@Ld LEm e :

r < R'wpmd r > R agid Hleaoude,
r -ofsfEgn Curg Siflsfsfing

r < R erggid Flovaudd, r -oifsflseb
Gurgl ymalwin; ¥ > R ergd Hlavsoutle, r
-afafsgn Curg sopdngl

r < R erayid Hlevawudled, r -oiglsfs@n
Gurgl yHlwib; ¥ > R argid Hleneoudle, r
-ofsfagn Curgl aidafédng
r<R wopdr > R aayb Heaeoule,
r -2ifefsEn Curg Gapdnsg

@

(3)

@)
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170.

171,

172.

173.

(1 mgR
‘@ 2meR

® 7 meR

) % mgR

capacitor, would be; respectively :

1 Mgl
2 MgL

- 1

3 2 Mgl
o LML
@ 5 Mgl

43
The work done to raise & mass m from the surface

of the earth to a height h, which is equal to the
radius of the earth, is:

A parallel plate capacitor of capacitance 20 wF is
being charged by a voltage source whose potential
is changing at the rate of 3 V/s. The conduction
current through the connecting wires, and the
dlspiacement current through the plates of the

(1)  zero, 60 pA
@ 60 pA, 60 pA
(3) 60 uA, zero
4  zero,zero

Increase in temperature of a gas filled in a container

would lead to :

(1) increase inits mass

(2) increase in its kinetic energy

(8)  decrease in its pressure

4)  decrease in intermolecular distance

When a block of mass M is suspended by a long
wire of length L, the length of the wire becomes
(Li+1). The elastic potential energy stored in the
extended wire is:

170. LedurLidambg Leduler TSNS,

FLOLD T eor

171,

172,

173.

P6
(R)
2uigb  h-pE, m-feopow
2wrsgeushE Celwliumn Cauamauier
TR :

() mgR
2 2meR
3) % mgR
4) % mgR

20 pF Nén Gsée Hoar Qsrer 62
Qanams () SlenGaid g Bdnanpss apasen

-apatd WeGanpmn QetnuiGdng). Werenipss

apagdlen Wenamupssid 3 Vis afsb wrpmid
SAML_Epg. Qeoarseh sbdseflar e fGw
Qedgib  sLgg WBarGarr b Wi
WenGgadluller sl@sar awBCu Qedgib
QL OQuTER WenGamm’ L b wpepGul

O yghedub, 60 pA

@ 60 uA, 60 pA

(3) 60 pA, yshehlwid

@ uggud. uigdus

sFHDG enLSSLILL HeTar g el
QeuliBleney el eremuig : -

D e Blanpeow afeféfing

@ élﬁﬁﬁr Quis Yoo ey
® oigen éi@gggmg Gopsfng

@ posmpsaEfoiuiL .

oL Laaflows gapsdng

M fleon Qarem. s an L ﬁarrgpsrrerr Si9wired
QgrEised (U@L Gurrg,j s09ufen Berd, (L+ )
2 dpg. Blgdstule sbifde Cabési-
LIBD B Plenad pmmeb,

() Mgl
@ MgL

1
3 2 Mg!
: :
@ 3 MgL

T
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174,

175.

176.

177.

44

In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

(p‘waber =4/3)

) 0.266°
@ 0.15°
@  0.05°
@ 01°

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
of 2.5 % 10~ 2 N/m. The pressure inside the bubble
equals at.a point Zy below the free surface of water
in a container. Taking g=10 m/sZ
density of water = 108 kg/m3, the value of Zgis :

() 100cm
2 10cm
(3) 1cem
4 0O0b6cm

A 800 turn coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5X107° T.
When the plane of the coil is rotated by 90° around

any of its coplanar axis in 0.1 s, the emfinduced
in the coil will be :

@ 2V

@ 02V

@) 2x1073V
@ 002V

A particle moving with velocity ? is acted by three
forces shown by the vector iriangle PQR. The
velocity of the particle will :

5

R
(1) increase
(2) decrease
(8) remain constant
(4)  change according to the smallest force Q_l:{}

174.

175.

176.

177

English+Tamii

o @rieLl Qeaey Gorgeandd 400 nm
Sewaperd QeramL gafleow LwaTLHSHD
Gurg 1 Slur Jgraedgierer Sapuie
Csmenmid s HAyingdler Coran s 0.2°.
Q&Csrgmen @bl Wyegh Bl
ewpsyéselu@n Gurgy Csrammibd Wse
AmogHen Camenr s wWrg ? (!-'«15;,=4f3)

(1) 0.266°
@ 0.15°
3 0.05°
4 or

2.5x 1072 Nfm ugiy Gupeiieans Qsram_ g
Corljssmygaen epob 1 mm b Caremr
GemLiysEulp 2 marssLupdng. Ceruiys
GUOPer 2 LD SIWPESD, G sevafler 2 aTer
Biflen sl igeom uFln9he Sip e drer Letetl Z, e
o GTeT BWESHHDG Fwbd. g=10 m/s?, Bl
<i5d =10% kg/m? erews Qarem_red, Zy Gen

SpLOLD

(1) 100cm
2) 10cm
3 lcm
{4y O0b5cm

800 spmisear Qarem_ &biNs smefler Lwen
uyliy, 0.05 m?. Qésmar 5X107° T srpsl-
Lasdd QshGEETs @aubsiul () 2 6rarg.
shlFameflear  geTd  SFe F6T5E 6
mwhgder gCsambd @@ MBS HEMT
Qurmsg 0.1 s Crrgdlad 90° SOOI L T
sbI9Fsmelld gram il 1Harafluiss eflas :

@B 2V

@ 02V

B 2x1078V
4 0.02V

? HasGaissdler BEGBD R gisatien S5g)
Qewau@n elmssar Qasii psGaramrn
PQR-& sm_ Ll (Hererer. giaeaflsn HensCousio :

P

/

R Q

D  oflsfEgn

@ @YD

B) omEmL® PHEEGLD

@ JVsFddlwu s Q_ﬁ - ETTHE
CougiLt(Hid
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178. ~Average velocity of a particle executing SHM in

one complete vibration is :

45

Pé

178. ereflw &fews @masasg,gﬁm 2 arar @@ gjaerﬂarr

Fyrei] ,&:,]m&@amm R PEPFHBlD ..

, Ao A
O 5 1) —f
@) Ao 2y Aw
2
Aw’ o =2
(8 > 9
@  zero @ gggun
178. w© @5  aAyrefliy  Hspeld,
179." In total internal reflection when the. angle of LG Caramwrang gaGprdLreany Agri (s
incidence is equaltothe critical angle for the pair Gla;rrswr@mm oari 5" @m@fﬁruﬁiﬁm Lommi 16l 6n 0
-of media in contact,- what will be angle of @Eﬁﬂﬂﬁ}ﬂﬂ)@ BSOS E &GITGIT @urrg;; o9 e
refrachon‘?
Garewrd wimrg) 7
1) .180° O 180
@ o @
(3)  equaltoangle of incidence @B uvpGsramgdinE sww
@ 9 @ 90
180. Inanexperiment, the percentage of error occurred 180. 2@ Cersweania, A, B, C LoHOID D oT T

inthe measurement of physical quantities A, B, C
and D are 1%, 2%, 3% and 4% respectively. Then
the mammum percentage of error in the

c}’ D3

meagurement X, where X= ,wﬂl be :

QAW siemeysener Slerell(heudla (E’g;frmg;]m
Slenipsaflen sgeigmisar-oeapCu 1%, 2%, 3%
Lop@id 4%. X -serelGeudles Garenniib Aenips
A? B/

% Dd

sseisgSlan QUL wdliy, @rie X =

@ 16% @ 16%
® i @)  —10%

@  10%
@ 10%

-0l o-

-o00o-
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Read carefully the following instructions:

DS RIS ENET BEUVILONS LIQESHEYLD :

1.

-3

Each candidate must show on demand his/
her Admit Card to the Inwagilator.

No candidate, without special permission
of the Superintendent or Invigilator, would
leave his/her seat.

The . candidates should not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on
duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed
the Attendance Sheet second time will

'be deemed not to have handed over the

Answer Sheet and dealt with as an
unfair means case.

Use of Electronic/Manual Calculator 18
prohibited.

The candidates are governed by all R_-ules

and Regulations of the examination with
regard to their conduct in the Examination
Hall. All cases of unfair means will be dealt
with as per Rules and Regulations of this
examination.

No part of the Test Bum_klet and Answer
Sheet -shall be detached under any
circiimstances.

The candidates will write the Correct Test
Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.

4; Benengi ]/ srsTren saflldser Lwer B

1, Cairay eT(pgiLicuisar samserfiLiumeTi CaLGLo
Cung) SEISANTS)| SIS DGO LS HTeRTLAES
GeugmBW.

2. Ggiiey erpgILIGIT eTaiBHL sem et ILITeT e
Spu siaoduderd, Seureur @muaLs
SleSlmpa Glaee SIGILOEGHUILILLOML L TT&E.

3. Csitay eT(SHILICLITEET SBIGATS Siempuilelarer
sansrefl uTaTiLb Q@muean elheamsy
udleys msGuriiub G Ceusmm@d LHHID
ShEg ML SETM DD Cgreys
sansrafuurarfliLd Qasr(ss WanaCr
Qauafl@e GCsoe @oHEsHUHT.
@QramLreug  (PeD as@uriubiL g
Caieuiser, shiseTg eSenLSETeoar 2\
sansTaflLTeriLD 2aN&EETod FaTDSTS
SGSILHEIT LOHOLD SIS SieuTEl CUTILILIDD
Qewiers S(HSILIHLD.

giougl el GaILILIL (HETeTs).

5. Ggiray ewpuigier, Garey TP SILIGUTSET
smaraumb Caia arflusde sl
LBSEREE oL aITSET Qe Qurmu
UDm 6Teded G EHEESLD Gairey cumfliugglen
FUL L BISETLIG. BLGlig SEns T(H&ESIUHID.

6. b5 GoHaoudad Catail LsED WHDID
leoi_gsrenet UAELSHSHD dalTF

-~

. Ggita] eT(pgILeUTSET SEIGG] Gsirey LHES
Gﬁ]gm_gjgjrm @@Lﬁl_.ﬁmL_ G}J@GDSSU '—'@@-Ifir)
girafle S LM 6T(pHGausimhid. |
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